Morning Session

Q1. Who is considered as the founder of Bengaluru?
A. Kanaka Dasa B. Saalumarada Thimmakka

C. Kempe Gowda D. Basavanna
Q1. T FT FEATIF e AT ST 82
A. SeTehT graT B. @TefFer fawasrhr

C. & Jiter D. SHdeAT

Q2. Which currency notes were demonitised in November 2016?
A. 100 and 1000 B. 50 and 500
C. 100 and 500 D. 500 and 1000

Q2. AFF=T 2016 # fhar-fher HIY el 1 Ragdrehvor gar ar?
A. 100 3iR 1000 B. 50 3{k 500

C. 100 3k 500 D. 500 3iX 1000

Q3. Kaziranga National Park is located in

A. Assam B. Bihar

C. Uttar Pradesh D. Meghalaya
Q3. Feima ad __ #F Rua ¥

A. 38H B. fag

C. 3caR ye2r D. Ao

Q4. Pradhan Mantri Mudra Yojana is a

A. Scheme for providing accident insurance cover B. Scheme for securing future of girl child

to Indian citizens

C. Scheme for providing funding to non-corporate D. Scheme for providing life insurance cover to

small business sector Indian citizens

Q4. wut FAY HgT A gl

A. HRCE FATTRERT T GEET STHAT &I & T Areter B. Sfeudt & s1fasy ot FRI&T et 1 Frsfelt
C. IR-H1IRe g SHTH &1 I el ITAH FTA T D. SR &ATTRERT T Sfaed AT &I a1 Y Frotelt

QST

Page 1 of 28

Download from www.MsEducationTv.com



Morning Session

Q5. The Third battle of Panipat was fought in

A. 1776 B. 1765
C. 1761 D. 1762
Q5. griga Y Aud aErE # ot o$ oy

A. 1776 B. 1765
C. 1761 D. 1762

Q6. King Harshavardhana established his capital at Thanesar near Kurukshetra in
AD.

A. 800 B. 600

C. 700 D. 900

Q6. TSI g¥ad & el H T & I AT H A Torerredr Fnfa A

A. 800 B. 600

C. 700 D. 900

Q7. gave Haryana the name 'Harna’'.

A. Maharaj Krishan B. Maharaj Vaidya

C. Maharaj Vardhana D. Maharaj Chand

Q7. o RO FT A1 g T ATl

A. AGRIST 0T B. HERIS dd

C. AR gt D. HgRIS dleg

Q8. was the last Hindu ruler of Delhi who was born in Rewari, Haryana.
A. Maharaja Ranvijay Singh B. Samrat Hemchandra Vikramaditya
C. Samrat Dhyan Chandra D. Prithvi Raj Chauhan

Qs. gREToT & Yar # e A A, e  sifaw g amas &

A. FERIST YuTidsry &g B. HHIC gHTeg fashaATecd

C. 9#HIc &1 o D. g Tref digre
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Q9. Sakshi Malik belongs to which district of Haryana?

A. Hisar B. Faridabad
C. Rohtak D. Rewari
Q9. wrah #faw, =T F frg forer Y are §2

A. RER B. ®{lerere
C. Vgh D. &

Q10. Which of the following has a cargo airport in Haryana?

A. Karnal B. Rohtak

C. Hisar D. Chandigarh
Q10. ==faf@a & ¥ Fi, RN F1 v FEf vaTAE {2

A. &L B. Vs

C. gER D. d81g

Q11. Who is the current Finance Minister of Haryana?

A. Anil Vij B. Om Prakash Dhankar
C. Ram Bilas Sharma D. Captain Abhimanyu
Q11. adATT & RN 1 facq #75 wie 82

A. 31fe¥er fast B. 31 JehTer ereiehy

C. & forema e D. &ved 3fH=g

Q12. In which category did Vinesh Phogat win the Silver medal in the Asian Wresting

Championship, 2017?

A. 45 kg B. 50 kg

C. 55 kg D. 60 kg

Q12. 2017 # vRIAT$ Fch APqgarRia & ferer where & frw Ao # Tora ggw Shtar a2
A. 45 frelr B. 50 foalr

C. 55 feir D. 60 felr
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
Morning Session

Q13. Which village in Haryana has been renamed as Saraswati Nagar?
A. Zaria B. Mustafabad

C. Kaduna D. Neemrana
Q13. RO F FH 7T FT ATH TGdT IR I@T 3T §?
A. ST B. FTABIETE

C. g D. #AFRTAT

Q14. Which award was recently given to Mahaveer Singh Phogat by the Indian government?

A. National Teachers Award B. Dronacharya Award
C. Arjuna Award D. Khel Ratna

Q14. R WK IRT HETAR A BRI FT g1 & & FleT [T [EHR o 12w 4r?
A. TS fR1ETh qRERR B. ST YEHR

C. 3ol [ERR D. Wl e

Q15. Which Saint-poet's birth is linked with the village called Sihi?
A. Surender Sharma B. Haridas

C. Deep Chand Bahman D. Surdas
Q15. fF¥ HA-FA & A FT FFat WG ATHAF 1T 4 §?
A. Qg AT B. gRerd

C. &I dg SgHeT D. T

[N

Q16. Who wrote 'Haryana Ka Itihas'?
A. Pandit Shri Ram Sharma

@

. Dhanpat Singh

O

C. Pandit Mange Ram

Q16. "gf=mon Fr sfag Faa forar?
A. afsa & T AT

C. 9fsd AR I D. &1t #7191l

. Baje Bhagat

oY)

. g4 &g
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Q17. In which year was Dainik Haribhoomi published for the first time in Haryana?

A. 1995 B. 1997
C. 1998 D. 1996
Q17. fw a¥ # gRamon & vgeh ar 3faw sRefd vl g€ o2

A. 1995 B. 1997
C. 1998 D. 1996

Q18. Haryanavi Ramayan was composed by

A. Khuda Baksh Ahmed B. Surdas

C. Kalidas D. Pandit Mange Ram
Q18. gIIroTdY IATIT FHr [T F Fr o

A. TeT ST 3gHS B. qXard

C. ifarerd D. ufsa AR I
Q19. Gurudwara Manji Sahib is located at

A. Chandigarh B. Ambala

C. Karnal D. Hisar

Q19. TFEART Halt wifgw # Rua g

A. T8 B. 3reTelr

C. FEATe D. fgar

Q20. The river is a tributary of the Ghaggar river.
A. Markanda B. Indori

C. Dohan D. Krishnavati
Q20. ), 99IR A4 Y UF WeHF A4l g1

A. ATHS B. SeaRr

C. agd D. Fsomddr
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Q21. Where is the Asigarh Fort located in Haryana?

A. Hansi B. Bahadurgarh
C. Sirsa D. Agroha
Q21. 3fAere fram gRamon 7 Fgr Rya §2?

A. g B. SEGUTG

C. fazar D. 373er

Q22. Kalesar National Park is situated in district.
A. Hisar B. Rewari

C. Yamunanagar D. Karnal

Q22. FTAW TE 36 oo & Rua g1

A. fRaR B. Yarsr

C. IHATR D. &aTel

Q23. The Jui Irrigation system is an example of irrigation.
A. Gravity B. Drip

C. Sprinkler D. Lift

Q23. 3% s yorreh, A=TE FT UF e8I B

A. AFE I1 TEcarRgoT B. fgu a1 eus
C. user a1 Bswa D. foiwre T 3o1@

Q24. Which two districts are irrigated by the Gurgaon canal?

A. Gurgaon, Rewari

C. Gurgaon, Faridabad

Q24. TrzTia 7eT & et &Y et o R el 82

A. 93T, Yarst

C. 59T, Hlrersie

B. Gurgaon, Bhiwani

D. Gurgaon, Rohtak

B. 3[39md, farer
D. 959Md, qgcsh
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Q25. What is the minimum age limit to be the Governor of an Indian state?

A. 35 B. 40
C. 42 D. 32
Q25. N TS & TsAqT Y A 31 i frereit gielt 82
A. 35 B. 40
C. 42 D. 32

Q26. Jakhal Junction is located in which district?
A. Panchkula B. Sonepat
C. Faridabad D. Fatehabad

Q26. JTEe SFA v forer F Rua 2
A. Fagell B. H=iaa

C. WigETe D. Bdglelg

Q27. The Central Government's Dairy Research Centre is in

A. Hisar B. Kurukshetra
C. Sirsa D. Karnal
Q27. ¥ WER FT G HTHU Fg0 # feud &1

A. figER B. FeaT

C. fagar D. &eTel

Q28. Baisakhi in Haryana is mainly popular in

A. Hisar B. Kurukshetra
C. Pinjore D. Kaithal
Q28. gRamom F durE qET T & # =l

A. fgar B. FeaT

C. sk D. &y
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Q29. 'Operation Durga' in Haryana is linked with

A. Safety of Men B. Safety of Child
C. Safety of Women D. Safety of Temple
Q29. RO F 'ieerT AT FT wEATH ¥R

A. gt i grat B. sl & gram

C. A3 T gram D. HEI T &t

Q30. Pick the odd one out:

Swimming, Fishing, Driving, Diving

A. Swimming B. Driving
C. Diving D. Fishing
Q30.

AT FT T9IT F:

R, AcEgaTe, gisfae, MarEi

A. TRThT B. ssfdar

C. TMar@rr D. Hc&guTelsT

Q31. Find the analogy.

Cdd : Dcc :: Fgg :

A. Gff B. fGG
C. GfG D. gFg
Q31.

AT HE-THE g3

Cdd : Dcc :: Fgg :
A. Gff B. fGG
C. GfG D. gFg
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Q32. What should come at the place of question mark (?) in the following number series?

4,9, 16, 25, 36,?

A. 42 B. 49
C. 45 D. 46
Q32.

frafaf@a wear yaar # e fee (?) & e W) 747 g aifRe?

4,9, 16, 25, 36, ?
A. 42 B. 49
C. 45 D. 46

Q33. If GOLD is coded as EMJB, how to code COIN?
A. EQKP B. NIOC
C. DQKP D. AMGL

Q33. g T FIs #4191 # GOLD F EMIB for@r Srar § aY COIN ! Fa1 T sreen?

A. EQKP B. NIOC
C. DQKP D. AMGL
X 1
sy R S S
Q34. S 15 | Find the value of x.
178 188
A. & B.
_ 164 136
C 3 D. 7
fi11= B
Q34. 3%} ¢ 15 Y aY x F1 AT AT HI
178 188
N B. 3
_ 164 136
C 3 D. 7

Q35. The probability of a number is always
A. Equal to 1 B. Greater than 1
C. Equal to 0 D. Between 0 and 1
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Q35. Ts HEAT FY THTEAT gae gl B
A. 1 F R B. 1 ¥ 318
C. 0 & seX D.03R 1&g

Q36. Varun got 85% in history test. If the test was out of 50 marks, what was his score in
the test?

A. 42.50 B. 40.50
C. 39.50 D. 41.50
Q36. 0T F i Hir T A 85% 3w fAram A adaw 50 3F Hir At A afiew F 3§ Fo e % Bar ar?

A. 42.50 B. 40.50
C. 39.50 D. 41.50

Q37. A mixer costs Rs.7500. Charu buys it at a discount of 12%. She then sells the mixer for
Rs.9800. How much profit did Charu make?

A. Rs.2600 B. Rs.3200
C. Rs.1400 D. Rs.2100

Q37. tw fAFwY I dnTd 7500 F9F 71 % 3H 12% # g¢ W @G §1 38F a1¢ 98 58 9800 T4 # a7 &t
¥ 9T o Rrae e FATT?

A. 2600 ¥9 B. 3200 394

C. 1400 ¥9& D. 2100 ¥93

Q38. mirrors are usually used as rear-view mirrors in vehicles.
A. Concave B. Convex

C. Plane D. Flat

Q38. mf¥at # Rav-=g AW & w7 # sk W gdort T Ut AT ST §1

A. 3ddel B. 3cdel

C. gAdd D. Felc
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Q39. The reaction in which acids react with bases to form salt and water is known as

A. Displacement

C. Oxidation

Q39. 5w 9fafrar & 35w, &R & AT GfAfFAT FF Fa79F 3 9=l a7 § 37 wfafsar #r

{ ST AT B
A. feamas

C. 3iTergiaor

Q40. Green plants are also called as
A. Autotrophs

C. Consumers
Q40. & ys-dtut #r
A. TgarsT

C. 39sIeFcr

oft &gT ST B

Q41. is the synonym of "urgent".
A. Useful
C. Critical

Q42. is the antonym of "scarcity".

A. Frightening

C. Pleasant

Q43. Identify the meaning of the idiom:

"A drop in the ocean".
A. A small part of what is needed

C. Only a small task is left to be completed

B. Neutralization

D. Reduction

. fasysdeRYor
. TgATRLOT

LY

B. Heterotrophs

. Scavengers

RCLE I
. g

B. Unavailable

. Huge

B. Plenty
. Troubled

B. A small person

. To fall deep in a trouble

& dA
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Q44. The sentence given below may contain one or more mistakes. Identify the correct
sentence.

"The cattle was grazing in Ramu's field when the jackal attacked.”

A. The cattles was grazing in Ramu's field when B. The cattle were grazing in Ramu's field when
the jackal attacked. the jackal attacked.

C. The cattles were grazing in Ramu's field when D. The cattle was grazing in Ramu's field when
the jackal attacked. jackal attacked.

Q45. Complete the sentence by choosing the correct form of the verb given in brackets.

The thief (catch) by the crowd.

A. were caught B. were catch

C. were catching D. was caught
Q46. A @ 2reg T qFTIATH 2reg TATSA |

T

A. J&RTST B. ISt

C. argea D. faderar

Q47. A @ 7Y 2reg #1 RAqda (FaT) 2reg aar=y |

3R

A. FTHR B. sAfee

C. WY D. 3FeR

Q48. A A & gAY 1 39GFA e qard|

BT o HATAT

A. FYeT g STt B. ®ell & &€ I
C. S§d J¥e= gl D. Y3 BI¢ gl ATl
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Q49. I for g reg FT Thaud TAR|

Yot
A. 9 B. 97

9 9
C. & D. sl
Q50. mmammagﬁﬂaam
%]
A. 3 B. ®qU
C. %q¢ D. Fg#
Q51. Accounting of Fixed Asset is done as per
A. AS 3 B. AS 5
C.AS 6 D. AS 10
Q51. aes IATH T FFBRAT gt ¥ B HrTaR AiY STl 82
A. AS 3 B. AS 5
C.AS 6 D. AS 10

Q52. The deduction allowed by creditor to debtor with a view to encourage quick and
prompt payment is

A. Trade discount B. Purchase return

C. Cash discount D. Sales return

Q52. i YT F Forar & F fAT FfFeT ganT Isex Ft A ge/FAN & e & 3@ T Fea §2
A. 3 fSTI3e B. T Reat

C. & f3&3e D. fed Rt

Q53. A vehicle purchased for Rs.375000 whose depreciated book value is Rs. 150000 is sold
for Rs 125000. What is the loss or profit to be accounted?

A. Profit of Rs.25000 B. Loss of Rs.225000
C. Loss of Rs.25000 D. Profit of Rs.250000
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Q53. UF aret ¥. 375000 FT EaT 71T AT 3H BRI 7% 3o 3. 150000 ¥ AR 3@ 3. 125000 # a7
& o3| @i # fede et I gl femman sreen?
A. %, 25000 =1 oI B. ¥. 225000 r gifer

C. %. 25000 $r gy D. &. 250000 & oot

Q54. Which among the following is the correct one?

A. Asset + liability = capital B. Capital + asset= liability

C. Liability - reserve = asset D. Asset - liability = owner's fund
Q54. 3aH ¥ FiT 71 TE B2

A. 38T + arafafed = e B. $fca + 3@ = arafaferdr

C. arafaferdy - Rad = e D. 31T - AR = T & B8

Q55. Mr. X purchased goods costing Rs.30000 at trade discount 5% and cash discount 1%.
Amount to be recorded in purchase account is .

A. Rs 29000 B. Rs 28500
C. Rs 28215 D. Rs 30000

Q55. SATE X & T. 30000 HeT FH TV 5% & ¢3 BEane 3R 1% F Fer Brwse w alidh waw s@se J
et T Ters soeit?

A. %. 29000 B. . 28500

C. 3. 28215 D. %. 30000

Q56. In hire purchase system asset account is debited with of the asset in the
books of hire purchaser.

A. Down payment B. Hire purchase price

C. Installment price D. Cash price

Q56. FR (Hire) Waw AT & 3T HH13¢ HN, §1E WAdoK & Trdl A AT F ¥ e frar
ST 1

A. 3134 UHe B. 8RR G 9

C. ¥cloidie wisd D. &her gisd
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Q57. Insurance paid on 1.9.2013 is Rs 12000. What is the amount to be transferred to
prepaid insurance account for the year ended 2014?

A. Rs.7000 B. Rs.12000

C. Rs.9000 D. Rs.5000

Q57. 1.9.2013 FI THT$ 7§ $2AN-H %. 12000 ¥1 2014 F FaATed a¥ F AT Mz SeaR=w IrFr3e & fraah
TR TRABT HT T2

A.%. 7000 B. %. 12000

C. . 9000 D. ®. 5000

Q58. Using capitalization method, find out goodwill, given that capital employed is
Rs.150000, reasonable rate of return 15%, profit for the year Rs.30000.

A. Rs 50000 B. Rs.970000

C. Rs.800000 D. Rs.7500

Q58. Fearger Ry F1 373k 3 g Rw 7 Y, a1 ¥ & #1077 a8 78 FRew (FRew Wwaige) @.
150000 &, dsaaa ¥T 3P Rt 15% ¢, a¥ & qred «a1s7 3. 30000 B

A. %. 50000 B. . 970000

C. %. 800000 D.%. 7500

Q59. Capital at the beginning of the accounting year in case of single entry system is
ascertained by preparing .

A. Cash account B. Bank account

C. Bank reconciliation statement D. Opening statement of affairs

Q59. e ¥ Rvew F Bl a¥f i v # FRea RR FF ghafvaa R s 2
A. & 33T B. d% 33T

C. d% Jwifeaerere weede D. 3irafeer T 3w Ihad

Q60. Inherent limitation of audit is
A. True and fair view B. Confidentiality

C. Undetected fraud D. Integrity
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Q60. 3iif3T Y TF Fgar HY reqar HAT |

A. T T fTsaeT T2 B. IMNYaAradr

C. I8 T YT & &Y e D. qofar & ggar

Q61. risk is unavoidable in nature and are bound to arise since accounts are
susceptible.

A. Control B. Financial

C. Detection D. Inherent

Q61. Rew 1 yfar ot @Yl B & 378 @ a7t o W 3R s 35 @St g Y § FifE
P Afaudedia (Fdfeaer) g §1

A. el B. IS ool

C. f3ezera D. S=ic

Q62. is an attitude that includes a questioning mind and critical assessment of
audit evidence

A. Professional judgment B. Professional skepticism

C. Professional ethics D. Audit documentation

Q62. uF T T/ wasna ¢ we warer # aren R sk st & wagt w1 wHteens
(critical) AT FI anfda g

A. SaaaRS [Avi B. SIIqHTRIS GATATG

C. =@t sifcierdr D. 3iif3e Sty

Q63. Responsibility of auditor is to

od]

A. Prepare financial statement . Express opinion on financial statement

O

C. Detect fraud in financial statement
Q63. 313 ¥ FT 3Hifex A Fwaard 82
A. BISARITS TeeAT IR T . TISATRITS TETHE TR AT The el
C. AR Tece & Wig T IaT eI D. 318y &I &I Hal

. Safeguard of assets

od)
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Q64. Audit materiality is inversely proportional to

A. Audit risk B. Detection risk

C. Control risk D. Inherent risk

Q64. 33T AANARAE (3iifde arfcawar) frad sqcraTTaT (Faawel yaedae) 82

A. 3iifse R B. f3taerat R

C. &grd REw D. segic R&=

Q65. is audit or verification of transactions or activities of an organization
continuously as the transaction takes place.

A. Statutory audit B. Tax audit

C. Concurrent audit D. Cost audit

Q65. AR 5t Horea & Aaeer a1 FaTant (WFERET) F1 3% @ F WY-T1Y & 33T ar
ARFrFee 71 Ft Fa &

A. T=glr (statutory) 3ifse B. ¢ 3iif3c

C. @l=hie (concurrent) 3iifse D. ree 3iif3e

Q66. Identify nostro account from the following :

A. Bank of America holding super account with B. SBI holding US S in America with Bank of

SBI in Delhi America

C. SBI holding account in other banks in India D. SBI savings account

Q66. AFAIRFT H ¥ AT HFIE3C IgaT :

A. SBI el #, o 3Tt 3ARHT T R b3 B. 31ARST & d 31T 3@ & SBI & S#AT USS

C. SBI & HRA & 31« sohl H 3Th13C D. SBI &fded 31#3c

Q67. are the price bands that set the upper and lower limit within which a stock
can fluctuate in a particular day.

A. Unexpired risk reserve B. Volatility margin

C. Mark to market margin D. Circuit filters
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Q67. at 7eg 95 § Y 3 F9N 7 el @it F a7 w3 § ad f= B wiE w1 s R
e Iy & IW-AT AT TFHar g1

A. 3eTteraraE Reh Refd
C. #H1% T AThe AlfoieT

Q68. Find out the current ratio:

Sundry debtors Rs. 15000

Short term investments Rs. 2000
Stocks Rs. 3000

Bills payable Rs. 5000

Expenses payable Rs. 7000

A. 1.75:1
C.1.79:1

Q68.

Fie A AT F:

R 35 3. 15000

eTE T F=dveHeH 5. 2000
TeIF 5. 3000

faew AN T. 5000
Fifs RS 3. 7000

A.1.75:1
C. 1.79:1

Q69. Increase in working capital shows
A. Application of fund

C. Loss from operation

Q69. afr FRed & A1 arell Tod w1 @ &
A. $8 FT 3TN H AT ST (VAR 3TH H3)

C. e ¥ g1fer

B. araiefadr (volatility) ATfS=T
D. Tf¥e fheed

B. 1.68:1
D. 1.66:1

B. 1.68:1
D. 1.66:1

B. Source of fund

D. Fund from operation

B. g &1 A

D. 3TN ¥ B8
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Q70. is a technique of costing which differentiates between fixed costs and
variable costs and charging only variable costs to products.

A. Absorption costing B. Standard costing

C. Batch costing D. Marginal costing

Q7o0. FITEET Y TF adhed § o1 ez Freed 3T RIS Fieew & Aeaw Fe ¥ 31 Wsaew
W Fad IRART Fieew & Tret F R

A. Usareele Sifecar B. T3E HIeedT

C. ST Siecar D. HATfoisTel T

Q71. Break Even Point (BEP) is

A. Fixed expenses / contribution per unit B. PV ratio / contribution per unit

C. Profit / contribution per unit D. Variable expenses / contribution per unit
Q71. 3% £f= uige (BEP) FAT g1 82

A. Theres s / Sidege 9fd Ifae B. PV IR / &idiege ufar gfore

C. o187 / Hidregert ufc gl D. aRAfTer teradflst / slidregere gfa giae

Q72. What will margin of safety be at profit of Rs. 5000 when contribution and sales are Rs.
8000 and Rs. 20000 respectively will be

A. Rs.12500 B. Rs.10000
C. Rs.11000 D. Rs.11500

Q72. 5= FIdregert AR Wew Faer: T. 8000 3K . 20000 & A 7. 5000 F w1 W ATfIT i WwE F747 ghanr?

A. %. 12500 B. . 10000
C.%. 11000 D.%. 11500
Q73. is a technique which involves identification of cost with each cost driving

activity and making it as the basis for apportionment/assignment of costs over different
cost objects/jobs/products/customers/services.

A. Job costing B. ABC Analysis

C. Process costing D. Product cost
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Q73. T deais ¢ aH g3 siee s MFedd & fav sice Y ygarer i ard § v 3@
Raffee Five siteotaca/eq/ Neaeq / F¥cAd /AT W FecH FT S/ FABAANEC FA & YR & T A
SEAATA FRaT ST 1

A. TS FIecaT B. ABC tarfafad
C. 9189 HITeeaT D. WSaC HIXC
Q74. is a geometrical progression which reveals the steadily decreasing costs

for the accomplishment of a given repetitive operation, as the identical operation is
increasingly repeated.

A. Learning curve B. Simulation

C. Linear programming D. Assignment

Q74. 5« Tl THTATT HTIAA FT G1gIT T&dT ST T@T gYar ¢ ar % Jolea Aoft (e
WEET) el ¥ S 3W TRER g aTer ST A g A & AT AR gedt S W ey F garar Fd
A. afeler &a B. faegerer

C. oiferzx granfHer D. 3 sade

Q75. EOQ = 120 units carrying cost per unit per annum = Rs. 20 buying or ordering cost per
order = Rs. 40 Annual requirement of raw material is

A. 1296 units B. 3600 units

C. 60 units D. 4600 units

Q75. EOQ = 120 IfacH, HRer (carrying) Fivew ufa Ifae ufar a¥ = 5. 20, @die sraar AEReT Fiee wfar
ST = 5. 40, F=2 AT F AT AT ATTIFAT gt

A. 1296 gfaeHd B. 3600 IfaicH

C. 60 gfaeH D. 4600 IfoleH

Q76. indicates the level of operation below which it is not justifiable to pursue
production.

A. Breakeven point B. Indifference point

C. Shutdown point D. Difference point
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Q76. IV & 37 T FT Hohd dT ¢ ora@F A, WsFreT ) I@T 3T A8 War (F1IS F1
wler w1gt wgam) |

A. SFsfaT dise B. sfeamid dise

C. 2ear3 uise D. fwiw dige

Q77. Virtual Access Method (VAM) is used in

A. Simulation B. Transportation

C. Time series analysis D. Network analysis

Q77. 343« AW Ays (VAM) &1 39T fraat famam simam 22

A. RegerreT B. graqréerst

C. TrsH W@t varfafaa D. seas vefafad

Q78. is the price which one unit of firm charges for a product supplied or
service rendered to another sub unit of same firm.

A. Marginal pricing B. Cost plus pricing

C. Transfer pricing D. Contract pricing

Q78. IF WSH & St el wol Y v gfere, 3E wol Y el wa-gfare Y agae AT sisae At et
geTd $1 71§ afdw & AT arst w3t §1

A. ATIferer grsfder B. i¥e Torg wrsfaer

C. iAW Fisf&er D. dicee usfder

Q79. is a budget which by recognizing the difference between fixed, semi
variable and variable costs is designed to change in relation to level of activity.

A. Flexible budgeting B. Functional budgeting

C. Fixed budgeting D. Master budgeting

Q79. TH AT S9ie T § o e, de-dRAfee i ARl Fivcw F T & sear B anfAw
1 T, AFeAE & A9 F GII-IT a¢ax F AT Romea Far smar 1

A. welfFafee sorfear B. herleTol Soffedr

C. fhares safdar D. AR Fafear
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Q80. Trend analysis is significant for

@

A. Profit planning . Capital budgeting

O

C. Working capital management . Forecasting and budgeting

Q80. &5 (Trend) ¥enfafdw frwd faw Fgcayet 82
A. oTH &1 cafaier & faw B. $¥ee Seifedr & v

C. T $ied & Aaedle & T D. qaefaTet (BRerEeaT) 3R asifear & fow
Q81. Responsibility centre is

A. Cost centre B. Production centre

C. Revenue centre D. Profit centre

Q81. Ruifrafafad dex Far §?

A. Five X B. WiseeeT Hex

C. Rd=g dex D. o #X

Q82. Costs of resources consumed by activities are grouped into
A. Cost pools B. Cost object

C. Cost driver D. Cost resource

Q82. ¥fFefadisr garr sFaAT frw v RaRfer At Fivcw & frw 9 7 @ smar 82

A. FIE Tel B. &Iee 3ifsote
C. FIET BR D. ®ive Rar

Q83. A company, other than an Indian company, would be a resident in India for FY 2012-
13, if during that year its control and management is situated

A. Partly in India B. Wholly in India

C. Wholly or partly in India D. Any Place in India other than Kerala

Q83. TF F5udl, I fF HRAT Fouet 7 g), F RAeaay 2012-13 F AT 94RT F71 FAary (e s 339T) A=
ST 3R 3HSHT Here 3R Aaorde Rua 8

A. JTRI% &9 § #RA H B. Q¥ & & 8 &

C. g0t o & 1 e 3711 &7 & HRa & D. el o 37elTdl SR & el ofy Tarer #F
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Q84. Mr. A incurred short term capital loss of Rs.10000 on sale of shares through the
national stock exchange. Such loss can be set off against

A. Both short term capital gain and long term B. Only against short term capital gain
capital gain
C. Only against long term capital gain D. Any head of income

Q84. AT A & AereTel Teih VFUST & FART AT I W T. 10000 F7 2i¢ < FRew A I/ 57 aE &
A (1) Y FuF waer (3re) AT e BFar s gahar 82

A. 2iT¢ &3 Sftea A 3R dior of FRea A=, =t & B. %had 2T T Hfee AT & THeT
qAeT

C. dhad ol e FRed AT & THeT D. SoTohd & fordT off §35 & TaeT

Q85. Where an assessee has two house properties for self occupation, the benefit of nil
annual value will be available in respect of .

A. Both properties B. The property which acquired/constructed first
C. Any one of the properties at the option of D. Both properties will be taxed
assessee

Q85. et et F fFAuiRelt (3l & fsh amw (Hew ifagaenT) F v & g3w giadhar & o e Soprar deg &1
a1 FuS gEaey A AAIm?

A. @yt gradier & forw B. 39 Wil & fow T8 Ul TIST AT S=1a12T 31T A7

C. a1 gradliesr & I frdl T & v forgenT a3+ &e- D. =T Yiélar W g form sirwam
TR (3 wear @

Q86. Where there is a decision to increase the D.A in March 2012 with retrospective effect
from 1.4.2009 and the increased D.A is received in April, 2012, the increase is taxable

A. In the previous year 2011-12 B. In the previous year 2012-13

C. In the respective year to which it relate D. In the year 2010-2011

Q86. &l AT 2012 # D.A. # Telcadl FA F1 hwem 1.4.2009 § qdeard wsrma (YoredfFea shae) & wra fon
71T g 3R a1 g3 D.A. 3, 2012 F 9Ted g3 & A Ig F@read drafae gl

A. Ooer a¥ 2011-12 & B. oo a¥ 2012-13 &

C. 39 a¥ # 0y Ig FFeey 3@l ¢ D.d¥ 2010-11 &
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Q87. Income from letting of machinery, plant and furniture is chargeable to

A. Always to profits and gains of business and B. Always under income from other source
profession
C. Income from other source if not chargeable D. Under house property

under the head profits and gains from business
and profession

Q87. #efierdl, waie 3R WeffeR Y BT W & F g8 gerehar Fhaed wSifarer 82

A. g €1 Witthed US A= (gains) 3iTh fae=ig Us B. BHRIT &) SThd WA 376X A &
9T &

C. STha I 31T AR H, 3PR Uiithed US e D. g138 W<l & 3idaid
(gains) WA 91 US UIher & &8 & aToiiae el ar

Q88. Which one of the following best explains 'Money'?

A. It is a medium for producing capital goods. B. It is a means for redistributing wealth among
people.

C. It is a common denominator for measuring D. It is a mechanism for resource allocation.

value.

Q88. 3aH ¥ &7 a1 ey "uT’ FT Fafedd sarEar Sar &2

A. TE HTUTT I[EH T ScuTeet el & [T Teh AEIA &1 B. g A1 o el Hoer (do) 1 GoT: faeRor iet &1
aqrer g

C. I 7T (I¢7) HI AT HT FAWISS &Y AT 7oA D. Ig & &I 31cihe w1 FRAAR
37iehel aTell (HTHT BAAA) &l

Q89. Convertibility to the Indian rupee implies that

A. The Indian Rupee can be exchanged by the B. The Indian Rupee can be exchanged for any
authorized dealers for the purpose of education. major currency for the purpose of trade in goods
and services.

C. The Indian Rupee can be exchanged for any D. The Indian Rupee can be exchanged for any
major currency for the purpose of financial assets. major currency for the purpose of agriculture.
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Q89. HRAT YA H Fafefafad) FT AdAT & I
A. TS[heIe & 322 U 31T STel HRAT $9 &1 B. a3¥ 3R AR 7 FRITN #¥e & 3337 & HRAT
fafeea (Yerasier) T gad 9 1 fafeea (Yeraeier) ol off vog@ et (AR

FIHY) F Tqry FAT ST AT B

C. BTSRRI 3ACH & 3837 ¥ RAT 39 & [AfdTT D, Tdr & 32T T AR 39 T Afad T (YFaan)
(Yererior) forelt it wore oeT (AoR HYE) & rer frar o el oft worw AeT (FSR iE) & @ frar o aear B
el g

Q90. In the context of balance of payments portfolio investment relates to

A. Takeover of foreign companies. B. Purchase of shares in foreign companies.
C. Purchase of real estate in foreign countries. D. Private remittance to foreign countries
Q90. YHTH F THrET ¥ Hesl F WEmIfAAT sedvedle fFaw geefrua &2

A. el Feafaar &1 31fREgor (Sh3aR) | B. facel seufaay & =Rt i @l

C. facet & 3 gruafca (Rae tee) & @wlic| D. fageit & s/ eemawor fAdEm)|

Q91. Which one of the following is considered as non debt creating foreign investment
inflow?

A. Foreign direct investment B. External assistance

C. Borrowing from IMF D. Commercial borrowings

Q91. fawifa # & frd Afer Ssc Frefder Rt seawede sawal (o 3o+ fadelt fader siaate) Arem SraT 82
A. gcgeT faeel fAaer (PR srilee seavedc) B. ST WA (YFaesTor 3TAEeH)

C. IMF & 3YR o=l D. aroifsaes 3UTRAT (FART IRIEIw)

Q92. The growth process that is sustainable and yields broad-based benefits and ensures
equality of opportunity for all is termed as

A. Faster growth B. Inclusive growth

C. Balanced growth D. Sustained growth

Q92. aF MY WAw 3t Rz el 7 3 REqa-3murd (fs-a¥3) v &f § 3k waft & fow srawt i wareran
gfafaa F1ch §, 741 FEard 8?2

A. IR Fprd (BrEex A1) B. FATAR faehre (Swefelfad ATY)
C. Fford e (dies oY) D. ez faem (T&cs AT)
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Q93. Credit will contract when

A. Bank rate is lowered B. Open market operations policy of buying
government bond is adopted

C. Reserve requirement ratio is lowered D. Bank rate is raised

Q93. #f2c Rgsar ¢ o=

A. §F YT geT ST & B. TR diz @lca fr 3usT Arhe 3itResa aifordr
IS ST &

C. Red Reraraade IR & gemr ST § D. d& YT SorT ST &

Q94. Which one of the following situations occur during the period when borrowers and
lenders expect inflation?

A. The nominal rate of interest exceeds real rate B. The real rate of interest exceeds the nominal
of interest. rate of interest.

C. The nominal rate of interest equals the real D. Nominal and real rate of interest become zero.
rate of interest.

Q94. I FUR A aTeY 3 A ATeY 7EIS / AZFAY (=FarereT) Y 37Ig 1@t § Y gorot A e oy aRfeufy oot
adrg?

A. STTST &7 AlTATl Y&, sTTeT & Rt I T S g ST B. sTToT T RIS I&, =TTl & AlTAAST 3¢ F 31T &6 SArar
g gl

C. TS HT AR I, ST & Rl I & SE & ST D. TSl & AlfAeter 3R Ner I& qra a1 S & |
gl

Q95. Which one of the following tax is levied by Central Government?

A. Taxes on mineral rights B. Taxes on consumption and sale of electricity
C. Taxes on capital gains D. Tax on motor vehicles
Q95. 51 § FieT AT TFH Few WHN G@RT THAT ATl 82
A. AR TgcH W o B. fastelr & s&aATer 3R oy ©T E
C. Ffee A=d (gains) W cFa D. AleX JTgaT & o
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Q96. Lead Bank scheme is designed to

A. Regulate the use of credit. B. Control the activities of non-banking financial

institutions.

C. Help the weaker sections in a particular district. D. Have a more concentrated effort of a bank in a

particular district.

Q96. Nz A% T 7 Fafavw Bems Far = 2

A. H3T F STIATT F AIAT FA & fAT] B. I-dfer wiseifrerre sEegeea & tfaefada @

=0T I F v

C. fardly forar faQdw 3 FeAaik geif & g =t & fawl D, fanelt e faQiw & de & 31 feaa el &

B

Q97. Which method of costing is best suited for interior decorator?

A. Job costing B. Contract costing

C. Process costing D. Operating costing
Q97. & FANTT 3FNT & AT g7 { FleT AT ATT-FAUROT Fad 3UYFa F1omm?

A. Sife et - fereiRor B. fder smerd-faeior

C. ufrar amerg-fagiRor D. JaTeiId dReTd-fAeiRoT

Q98. Which of the following is an example of variable cost?
A. Property taxes B. Interest on capital

C. Direct material cost D. Depreciation of machinery

Q98. 31H ¥ FieT |1 Aweq TRad! arra F1 3eTETT §?

A. TUfeT # B. Goft 9T ST
C. JcgaT |rHa orerd D. #HMeRT &7 Hedsrd

Q99. Which of the following is a planned result than an enterprise aims to attain?
A. Forecast B. Budget

C. Marginal cost D. Production cost

Page 27 of 28

Download from www.MsEducationTv.com



Morning Session

Q99. FFaAfaf@d & FAT yred FA F AT 3577 & 322t A Jorol1 & wF AT aRom §2

A. qaieTATe B. SeTc
C. HHATedh amTT D. 3cqTee dreTd

Q100. Which type of audit is more suitable where there is no satisfactory system of internal
check?

A. Continuous audit B. Periodical audit

C. Balance sheet audit D. Management audit
Q100. ¥ YR F J@T 9iaT HF 39gF ¢ 1 NaARF SArT H FI§ HaAlworaTd Jorel #AlS[E 78T 82
A. A @ G{iaT B. 3aftes or@r odiet

C. JoT-97 of@r uret D. YT JI@T qredr
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Q1. Swami Dayanand Saraswati founded

A. Brahmo Samaj B. Indian National Congress
C. Arya Samaj D. Indian National Army
Q1. Tart gueg WFa Y T

A. SEH FHST B. ¥R IS S

C. 3m AT D. SR TS Bl

Q2. won the 2017 Champions Trophy cricket tournament.
A. India B. Australia

C. Pakistan D. South Africa

Q2. 2017 IRyw i e gatde & #1 sha g8l

A. #RT B. sireeforar

C. grferEdret D. GfatoT 3shiehr

Q3. Kaziranga National Park in Assam is a sanctuary for

A. Rhinoceros B. Tiger

C. Lion D. Elephant

Q3. 3\A # yd FISRET TET 3gaqT=T ¥ fAT U AR B
A. 3eT B. ser

C. &R D. gt

Q4. Who is the current Union Minister of Finance?

A. Rajnath Singh B. Smriti Irani

C. Arun Jaitley D. Venkaiah Naidu
Q4. TIA HFET Rea 7N Fi §2

A. TSy g B. ¥ STt

C. 37207 Sieelr D. Jhar A g
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Q5. Rakhigarhi, which is considered to be the origin of Harappa civilization, is in
district of Haryana.

A. Panipat B. Hisar

C. Sirsa D. Faridabad

Q5. TENTE!, TS 30T WIAAT FT 3c9fcd TAT AT AT S, TEERAOTH S A Tua g1
A. gread B. fgaR

C. fazar D. wllereTe

Q6. Under which Mughal ruler did Haryana come under the control of the British?
A. Akbar B. Bahadur Shah
C. Shah Alam D. Wajid Ali

Q6. FE T AT & ATHA Frer H gRATOM W 33SiT 1 frzrror Turfia gam ar?
A. 3haT B. SgIgX e
C. ITg 3T D. arfare; 3relr

Q7. Ravindra Singh Bisht, the famous archaeologist, worked in Banawali, Hisar in the

civilization.

A. Gangetic Plain B. Indus Valley
C. Vedic period D. Persian

Q7. ¥R Wacatag g e fse & Rar & qaraeh & YA U FHIH AT
A. 30T T Hee B. fiy aréy

C. dfee Frer D. BRET

Q8. The Indus Valley Civilisation is a civilisation.

A. Bronze Age B. Iron Age

C. Stone Age D. Dark Age
Q8. Ry urdt wsaT v T &

A. HTET ZIT B. @ilg T

C. 9TSTOT T D. 3R T
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Q9. Mrs. Sushma Swaraj, the current Minister of External Affairs of India, was born in

A. Ambala Cantt B. Faridabad

C. Rohtak D. Rewari

Q9. FdAATA s H fager #:f, sforch gwam Tawrer #1 e # gam |
A. 3TFdTeT e B. wiererg

C. Ugcsh D. T

Q10. Who won the first ever individual Olympic gold medal for India?

A. Sakshi Malik B. Geeta Phogat

C. Vijendra Singh D. Abhinav Bindra

Q10. fFua HRT F AT 3T TF T IgaT AAAF FIOT Ig&F SAIar?

A. aralt #Afcrs B. 37T Bte

C. a=¢ e D. =g fogr

Q11. According to Government reports, percent of total inhabited villages of Haryana
are electrified. (Rural Electrification Report as on 30.06.2017)

A. 90 B. 100

C.75 D. 82

Q11. TR Rulet & AR, gRATON & For a4 gu aniai # @ wferere aifal &1 faggeiteor g o g
(30.06.2017 aF #r ArAIvr fggdiaor RuE)

A. 90 B. 100
C. 75 D. 82

Q12. What is the new name of Ballabgarh?

A. Balrampradesh B. Balramgarh
C. Balrampur D. Balramganj
Q12. SoasIg HT AT ATH FIT §?

A. FRTHTC B. SoRT#HG

C. FoRHAR D. JeRTAIST
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Q13. Union Government of India selected to be developed as the First Smart City
of India.

A. Rohtak B. Rewari

C. Faridabad D. Gurugram

Q13. Rd WHR o ART FT IgaT TATE /A 9a & AT T T AT B

A. gas B. darsr

C. ®leEg D. %

Q14. Which is the national highway between Ambala and Haridwar?

A.NH 8 B. NH 72
C. NH70 D. NH 71
Q14. 37aren 3R hear F @i Fia @1 T AT §?

A.NH 8 B. NH 72
C. NH70 D. NH 71

Q15. Who wrote 'Jhadufiri’, the first novel written in Haryanvi language?

A. Surender Sharma B. Rajaram Shastri
C. Deep Chand Bahman D. Surdas

Q15. gRarordt streT F A T s U "R A TEer e # di?
A. gl uaT B. ISTRTA &Y

C. 8 Ig g D. ¥ |

Q16. Several words in Haryanvi are similar to words in language.
A. German B. Finnish

C. Spanish D. French

Q16. R F FE 2eq STTNT & 2Aeal & A &

A. SHA B. fopfever

C. ®uferer D. %a
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Q17. Which of the following is NOT an autobiography of Kapil Dev?

A. By God's Decree B. Cricket my style
C. Straight from the Heart D. Sunny Days
Q17. Afaf@a & ¥ #ia W fFame, R 2 A v rcASTA T 82

A. STS JNsH 3T B. fohane ATS Teme
C. T WA G §IC D. Heail 37

Q18. Surender Sharma is a very famous Haryanvi

A. Folklore artist B. Satirist
C. Painter D. Sculptor
Q18. §ix T T Tgd Wi gRAmord gl

A. SreRafid el B. SFIMHR
C. R D. FfHR

Q19. Which one of the following rivers does NOT flow though Haryana?

A. Ghaggar B. Indori

C. Dohan D. Beas

Q19. Arafaf@a afdat & & Fia ot 7Y, eRaoT ¥ SF 78 @ 2

A. g3 B. Swarr

C. argel D. s

Q20. The district receives the maximum rainfall among all districts of Haryana.
A. Kurukshetra B. Faridabad

C. Ambala D. Hisar

Q2o0. forer & gRamon & weft ot it goren # waw rflrw awt @l 21
A. FBEHT B. wiigreTg

C. 3f&dTelr D. fgarR
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Q21. Dharuhera Industrial Town, the fastest growing Industrial Area is in District
of Haryana.

A. Rewari B. Gurugram

C. Hisar D. Faridabad

Q21. uTFY 3T T3+, FEH A A F T aren AT &7, ghaon F kRl

A. arsr B. eI

C. gar D. WiereTg

Q22. Haryana does NOT share its boundaries with

A. Delhi B. Punjab
C. Uttar Pradesh D. Gujarat
Q22. gRrom &t daAT $r drr & 7 g 7 ¥
A. el B. gaTe

C. Jeak Jeer D. IR
Q23. Total area of Haryana is square kilometres.
A. 44,312 B. 44,212
C. 55,412 D. 33,612
Q23. RN F For aAwA Fat fralefier B

A. 44,312 B. 44,212
C. 55,412 D. 33,612
Q24. There are _______ districts in Haryana state.

A. 22 B. 21

C. 20 D. 14
Q4. gfmnusyA__ gl

A. 22 B. 21

C. 20 D. 14
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Q25. Where is the high court of Haryana located?

A. Faridabad
C. Chandigarh

Q25. RN A ITT AT el YT 82
A. BIETETE
C. I8rTe

Q26. Sahibi river finally drains into the
A. Arabian sea

C. Beas
Q26. TIfge 71dY 3a & et #1
A. 3T EFR

C. o

Q27. The Chinkara Breeding centre is in
A. Bhiwani
C. Sirsa

Q27. fiwrr fif¥ar dex #E
A. faret
C. &

Q28. Fatehabad is famous for
A. Watches
C. Cotton Threads

Q28. FagEE
A. Bfsar
C. g g

& fow yfdg §1

B
D

. Gurugram

. Panchkula

B. Sutlej

. Yamuna

B. Kurukshetra

. Kaithal

. YT

B. Wool

. Jute
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Q29. Which Haryana city is called 'Power house of boxing'?

A. Rohtak B. Bhiwani
C. Hisar D. Rewari
Q29. fFu gRATON e FY "FTFHT FT UG 3" FgT ATAT 82

A. gas B. fari
C. fear D. @rsr

Q30. Pick the odd one out:

Nose, Mouth, Eye, Ear, Skin
A. Nose B. Skin
C. Ear D. Eye

Q30. WA FT TIA F:
AE, HE, W, F, caqr
A. AT B. caar

C. & D. 3@

Q31. Complete the analogy.

ABD:FGI :: KLN:
A. NPQ B. SUW
C. UVX D. LMN

Q31. FATAT F G F .
ABD:FGI :: KLN:

A. NPQ B. SUW
C. UVX D. LMN

Q32. What should come at the place of question mark (?) in the following number series?

4,7,12,19, 28, 39, 52, ?
A. 58 B. 59
C. 67 D. 72
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Q32. farafaf@a Tear sf@en & e et (?) F T W F47 gl A1iRT?

4,7,12,19, 28, 39, 52, ?
A. 58 B. 59
C. 67 D. 72

Q33. In a certain code, COURSE is written as 568943 and ROAR is written as 9629. How is
RACE written in that code?

A. 8932 B. 5894
C. 9253 D. 4329

Q33. tw fARaa 3 #, COURSE # 568943 3ix ROAR &' 9629 f@r arem §1 36 #13 & RACE &) 1 ot
STTaTT?

A. 8932 B. 5894

C. 9253 D. 4329

Q34.35-[3 + {26-(9-6)}] =

A. 11 B.9
C. 10 D.8
Q34.35-[3+{26-(9-6)}] =

A. 11 B.9
C. 10 D.8

Q35. There are 50 fruits in a basket out of which 9 are apples. If you pick up a fruit from the
basket, what is the probability of picking an apple?

A. 9/50 B. 50/9
C. 1/50 D. 8/50

Q35. T AF #H 50 %ol § [T § 9 A« 1 IR 317 AFN F vF & 35T §, A TF AT FV AN A FIT Fo1A
e?

A. 9/50 B. 50/9

C. 1/50 D. 8/50

Q36. (60% of 360) - (360% of 60) =
Al
C.0 D. 3
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Q36. (360 F160%) - (60 FT1 360%) =

A1l
C.0 D.3

Q37. Rati purchased 500 glasses at the rate of Rs.90 per glass. She sold the glasses at
Rs.120 each. What was her profit/loss percentage?

A. 32.50% B. 33.33%

C. 35.25% D. 34.90%

Q37. T & 90 Fu yfar fremw Y a7 & 500 Fremw @il 38 IAF emd 1 120 393 & a7 A1) 3307 Arer
/ e afdera fraar ar?

A. 32.50% B. 33.33%

C. 35.25% D. 34.90%

Q38. The SI unit of electric charge is

A. Ampere B. Volt

C. Coulomb D. Watt

Q38. Rgga smawr $ vaITS FHE gl

A. TFIRR B. dleT

C. ForFa D. dre

Q39. is an example of a non-metal.

A. Sulphur B. Potassium
C. Magnesium D. Iron

Q39. I-er1g T v 3ETENT B

A. T B. arefRA

C. Aehfga D. oligr

Q40. The in human digestive system is commonly known as the 'food pipe’.
A. Tongue B. Oesophagus
C. Stomach D. Throat
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Q40. AT I aF & F HAAR W NS T F ATH & AT AT ¢
A. ST B. IM&sTell

C. 9T D. 3relT

Q41. is the synonym of "peer".

A. Pressure B. Fruit

C. Colleague D. Look into

Q42. is the antonym of "beneficiary".

A. One who receives B. Sponsorer

C. Inheritor D. Successor

Q43. Identify the meaning of the idiom:

"Burn the midnight oil".
A. Enjoy someone else's money B. Waste time

C. Spend more than you earn D. Work late into the night
Q44. The sentence given below may contain one or more mistakes. Identify the correct
sentence.

"I went to shopping with friends."
A. With friends I went to shopping. B. To shopping I went with friends.

C. I went shopping with my friends. D. I went to shopping with mine friends.

Q45. Complete the sentence by choosing the correct word.

The team of doctors successfully on the patient.
A. operated B. prescribed
C. followed D. practiced
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Q46. A @ ereg T qFTHATH 2reg TS |

g
A. &

C. gr&aY

Q47. MY @ ereg #1 AT (FT) g a= |

T
A. B
C. 35"

Q48. @ B 1 Feray F1 3TgFT e A |
ﬁ’?a?rm
A. AT 9T AT

C. s X AR S

Q49. W@1fHd Ueg FT Thadd g4 |
ﬁaﬂ@aﬁﬂﬁ*mi&mmﬁw
A.EIE'

1%

C.EI§

Q50. W@1fHd Ueg FT Thadd 1 |

A I T S |
A. ST

C. el

B. 30T

D. grar

B. o1

D. Wreid

B. f5dY & amely @rem

B.EI'IE
D.E!E

B. SIdr

N

D. St

N
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
Afternoon Session

Q51. 500 shares of Rs. 10 each were forfeited due to non-payment of call money of Rs. 6
per share. Out of these 300 shares were re-issued at 10% discount. The amount transferred
to capital reserve is:

A. 2700 B. 3000
C. 1500 D. 1800

Q51. 10 T gfer Hed & 500 WA AT ARY FT AT o FIA Y Tole ¥ 6 FIT T AW e FX AT TN g7k &
300 =X 10% e T A @ I frw 1w oY qarse B 9 @= 7 geaiaia i I arelr aflr =4r g

A. 2700 B. 3000
C. 1500 D. 1800

Q52. Which among the following is the fundamental rule for recording transactions into
nominal accounts?

A. Debit the receiver and credit the giver B. Debit what comes in and credit what goes out
C. Debit expenses & losses and credit gains & D. Debit value received and credit value given
incomes

Q52. ATHATT FTAl # AF-eAT I Gof FA & fav eafaf@a & @ Fla @ smurera s 82

A. YT &3 aTol &l T8 Y 31T 8o are) 1 FTAT L B. S 3{eT 31T & 3@ A1 Y 3T S 918 S § 38
STAT Y

C. @d 3R gliardl T A Y 3R wifcat 3R 3m D. YIS HT &l A1 # 31el 3R T 10 Hewr &t S1Ar
AT A

Q53. Bad debts incurred by consignee, will not transfer the burden to consignor when he is
paid

A. Commission B. Declared commission

C. Overriding commission D. Commission on profit

Q53. N ZART T6T FFT T FaT HOT FT AN UNF W FEATARS AGT T o1 38 T $aTaTe R
el

A. FHHT B. €M sheTerT

C. AT SHeTerT D. ¥ YT hATRrT

Q54. Which account is the odd one out?
A. Office Furniture & Equipment B. Freehold Land and Buildings

C. Stock of raw materials D. Plant and Machinery
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Q54. FAfaf@d & ¥ T AT WraT AT 82
A. FTITer PefraR 3R 3uaor B. Whigles §{f@ 3N a7t

C. &= AT &l Tl D. 37 3k #Aefi=r

Q55. Statement prepared to show the financial position at the end of the period is called

A. Trial Balance B. Balance Sheet

C. Trading Account D. Profit & Loss Account
Q55. 3af¥ F 3ia # ey Rufa # REe & v IR fawor # FeT ST 8
A. TS Soid B. soid efic

C. ¢fsar @rar D. @87 3R g1fed @rer

Q56. Which one of the following is not a wasting Asset?

A. Mines B. Quarries

C. Oil Field D. Patent
Q56. ArAfaf@a & ¥ F1 v rvary Fufea a¢t &2

A. @t B. 9caX &1 @lel

C. damery D. Uée

Q57. Mr. X consigned goods of the cost of Rs. 20000 to his agent Mr. Y and incurred Rs.
4000 for insurance in transit. Mr. Y took delivery of the goods after spending Rs. 6000
towards freight. He sold 3/4 of the goods for Rs. 30000. Sales expense is Rs. 1000. Value of
closing stock is:

A. 7500 B. 9000
C. 9500 D. 7750

Q57. AT X A 379=t TS Y HT 20000 F9F ¥ AT FHT AT ST 31T 30&F fAT 4000 FIT FT IRITAT
(zifare) €t agar Tl AT Y @ 6000 TIT FT AT GATS $TST T FIA & d1G AT HY FIai gred 1| 3egia 3/4
AT HT 30000 FIT H I fram| s FIA W 1000 FIT FT @ g3 A T B faw weiw F1 qeT 741 82

A. 7500 B. 9000
C. 9500 D. 7750
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Afternoon Session

Q58. Goodwill is a asset.

A. Fixed B. Current
C. Tangible D. Intangible
Q58. 4T TH wufea ¥

A. 3T B. IdHTT

C. ol D. 3/

Q59. In the absence of partnership deed interest on loan is:

A. no interest B. 5%
C. 3% D. 6%
Q59. WEHTRIAT Yol F THIT H HUT W AT fhdT &1dT 8

A. FIS sTTT AGT B. 5%
C. 3% D. 6%

Q60. Mr. Y followed WDV Method and SLM Method of Depreciation during 2006 and 2007
respectively. He violated:

A. Conservatism Principle B. Materiality Principle

C. Consistency Principle D. Cost Principle

Q60. 5t Y & Haer: 2006 31X 2007 F R Hegerw # secg 3.d. (WDV) faftr sk vw.ven.war. (SLM) fafer
&1 uTele BTl 3% A frw et #1 seerae R rar?

A. ®feare Bgia B. uerd fagia
C. Hardar Rgida D. &g fgia

Q61. When transactions are incorrectly recorded they are known as

A. Technical errors B. Errors of omission
C. Errors of commission D. Errors of duplication
Q61. I« A-aT I R*E e o &, A 3¢ ___ FET STl

A. deeiiehr Jfear B. T &1 qfear

C. & &1 Ffe D. aera #r IR
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Q62. Audit done continuously throughout an accounting year is called

A. Complete audit B. Continuous audit
C. Private audit D. Interim audit
Q62. TF JET a¥ # FTel T fFT S arel or T qileqor (3HifRe) Y ___ Fea &
A. ot orar adeTor B. faRaR orm advefor
C. fashr erar gdaror D. 3R or@r wieTor

Q63. Examination of documentary evidence to ascertain the accuracy and authenticity of
transactions recorded in the books of accounts is called

A. Vouching B. Verification

C. Internal check D. Investigation

Q63. JaT afgdl # gof ST Y g HR WEAOIFAT FT g T F AT SFARA T Y ST B
FET AT ¢

A. ST+ (ar3faem) B. TcamdeT (AR fthehereT)

C. 3HidRer Sirar D. 3f=awor

Q64. An audit report in which the auditor does not insert any qualification, modification or
reservation is called

A. Qualified report B. Negative report

C. Clean report D. Positive report

Q64. ts ¥ aar gdaor (3iifEe) R Sraed dar wars (3iRe) gant wRads, waeer a1 smamor afFafaa @
R e ¥, 39 FEd ¢

A. graeT e B. sTRIcH® RO

C.g@ﬁqﬁ D. hRIcHs RAIE

Q65. Shares held by each Director of the company as per the Articles are known as

A. Preferential shares B. Qualification shares

C. Convertible shares D. Redeemable shares
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Q65. AW F HTAR FUAl F T AU ZarT W@ 71T RN Fg ST B
A. 3TRATT A B. FTfeIfthehelel AT
C. gRade X D. 9fced IR

Q66. Which of the following standards on Auditing deals with audit planning?
A. SA 610 B. SA 300
C. SA 620 D. SA 230

Q66. AFfaf@d & ¥ arar weor (3iif2Reer) F1 Fie a1 #AETF r@T THeTor Ao ¥ T &2
A. TE.T. 610 B. TH.T. 300

C. Ta.T. 620 D. tH.T. 230

Q67. Capital expenditure is taken as a revenue expenditure, it is an error of:

A. Omission B. Duplication

C. Principle D. Commission
Q67. YSllera saa FY T =49 & 9 A o forr o B, e frw e Y qfe 82
A. T B. aleda

C. Rgra D.

Q68. Audit evidence states the :
A. Involvement of the accountant B. Credibility of the company

C. Trust worthiness of the management D. Reliability of audit evidence influenced by its
source and nature

Q68. @r qdiafr (3iif3e) yATr PEfaf@d & ¥ Far yeRkia Fyar §?
A. @R FY Fefier B. &uer 1 ar@
C. 9&treT &1 [aag=iaar D. 9id 3 TTHT A AT SI@T I8 sl JHTOT

Q69. One of the most important tools in cost planning is:

A. Direct cost B. Budget

C. Cost sheet D. Marginal costing
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Q69. FFIfaf@d # A Fie ® Aoy AFrT Y AT T F FEW Ageaqyr AHA F ¥ 0 32
A. IcI&T IR B. sa1¢€

C. i efie D. AT dRETT

Q70. Costs which are ascertained after they have been incurred are known as:
A. Imputed cost B. Sunk cost
C. Historical cost D. Opportunity cost

Q70. ¥ @t F fFA ATH & AT JATAT §, S 3% TT g I & 918 AuiRa fre €2
A. & &R B. fawer areraT

C. WRIETT F#Td D. 3a3X 9T

Q71. Accounting standard 2 recommends the valuation of inventory on:
A. Absorption costing B. Marginal costing

C. Activity based costing D. Job costing
Q71. AW AAF 2 FIE FT HeAFa fatarad & ¥ Bhd o F3ar Y RGN Fyar 8?2

A. 3TTNYUT AT B. @HT deTd

C. sfafaf®r w 3meRa smera D. & JRE T

Q72. If lead time is 5 weeks, average weekly consumption is 28 units, the re-ordering level
will be

A. 120 units B. 130 units
C. 140 units D. 150 units

Q72. Ry FH Hia (s ) 5 HeaTe &, AT FCARE WU 28 FHE ¥, A T AW A FT TR
gl

A. 120 sorsar B. 130 srsal
C. 140 s&rsar D. 150 s&rsaf

Q73. Continuous stock taking is a part of:
A. Annual stock taking B. Perpetual inventory

C. Periodic inventory D. ABC analysis
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Q73. R i Y AT =1, AFafai@a & & 5w F1 R &2
A. ari¥es AT &Y Sire B. faRc¥ #er
C. 3mafds @ D. T.&.4. faeeryor

Q74. Labour turnover is measured by:
A. EOQ B. Last in first out Method
C. Flux method D. First in first out method

Q74. #7 AR Arafaf@a # ¥ e garr ard e 82
A. .30, B. d¥e 37 BES 33 [AfYy
C. woraq fafer D. ®EC 3o BES M3 Afer

Q75. For a particular work the total remuneration is Rs. 3600. A and B can alone complete
the work in 12 and 24 days respectively. What will be the remuneration of A if they can
complete the work together from the starting of work?

A. 2400 B. 1200
C. 1800 D. 2000

Q75. frlt v @ F1 & faw fear S aren For MRHAF 3600 wT 71 A 3R B e 30 FIH HY FAA: 12
3 24 Rt # qu = FF §1 IR T YEATT F UF WIT FH B QU FA § A TasC B A F1 aienfEw @ gem?

A. 2400 B. 1200
C. 1800 D. 2000

Q76. Maximum possible productive capacity of a plant when no operating time is lost is
called

A. Practical capacity B. Normal capacity

C. Theoretical capacity D. Capacity based on sales expectancy
Q76. FI$ WATAT HY ASC o gl U UH FIAT I HAFAH THT 3cUIGH &THAT Y FgT AT g1
A. ST &THT B. €AY &THT

C. ¥gifas araar D. fSshr 31981 & 3TUR W &7A T
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Q77. Director's remuneration form part of:

A. Production overhead B. Administration overhead
C. Selling overhead D. Distribution overhead
Q77. e &1 qiafas Peafaf@a & @ frae Rewr &

A. 3T 3Naes B. WemHe 3aes

C. fodhT 3aves D. fdavor 3iawgs

Q78. ABC costing is based on

A. Accounts B. Activity

C. Arrangements D. Alternatives
Q78. v.d.H. arra W TR ¥

A. or@r B. sifafafer

C. cggeam D. d&fedsh

Q79. Prime cost plus variable overhead is known as:
A. Production cost B. Marginal cost

C. Total cost D. Cost of sales

Q79. FI¥ A AT # FULN AT FAT FT &F AT § & 3§ FAT Fgel 82
A. 3cUTEsT dTeTT B. H#d ameTd
C. el AT D. fa&hr fr amera

Q80. In which of the following methods, issues of material are priced at pre-determined
rate:

A. Inflated price method B. Standard price method
C. Replacement price method D. Specific price method
Q80. fArfafaa # ¥ frw fafYr #, sl aerefht vF q@-PuifRa a7 w77 v s 82
A. 981 g3 & fafer B. AT Hea fafyr

C. gfaeura 7o [y D. Ui #ea fafer
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Q81. Bin card is maintained by the:
A. Accounts department B. Costing department

C. Stores D. Purchase department

Q81. s F1¢ A fFE gaRT IATC TWT AT §?
A. or@r AT B. o1 fastmer

C. &R D. %3 3T

Q82. ABC Itd manufactures a single product which it sells for Rs. 20 per unit. Fixed cost is
Rs. 60000 per annum. The contribution to sales ratio is 40%. ABC Itd breakeven point in
units is:

A. 7500 B. 8000
C. 7000 D. 7400
Q82. ABC fafits t& tahel 3cUIE IaTd! § oY 98 20 TT 9y 31§ W aat 1 X amra 60000 F9v 9fy af

¥1 Tt # AvereTe #1 IHTITT 40% 1 A gA3T B ABC Y sFTEAT F wmer-3remy RBAfy (3F §a71 carse)
AT & @ Fr ef?

A. 7500 B. 8000

C. 7000 D. 7400

Q83. An example of fixed cost is:

A. Direct material cost B. Works managers salary

O

C. Depreciation of machinery
Q83. Arfaf@d & ¥ U T FT 3gTeIvr 471 §:
A. 9cT8T ATl T AT B. S YSEIhT T dcdeT

. Chargeable expenses

C. #M &1 518 D. U =1

Q84. The maximum period for which speculation loss can be carried forward is:

A. 4 years B. 6 years

C. 8 years D. Indefinitely
Q84. TAfad (FIFgAUA) FIfer FY 3T & ST AT Y IrfFae Iafe 7 8
A. 4§ B.6ay

C.8a¥ D. 3fAfere shrer e
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Q85. Income under the Income tax Act is computed under:

A. 5 heads B. 4 heads

C. 6 heads D. 8 heads

Q85. IHF ATAAIH & i M7 At 7oA Bra=r ofiwt F sraeia $ir e &:
A. 5 s B. 4 ofi§

C.6 MY D. 8 oy

Q86. For non-payment or short payment of advance tax:
A. Interest is payable under section 234A B. Interest is payable under section 234D

C. Interest is payable under section 234B D. Interest is payable under section 234C

Q86. FX F -3 AT F AT F forw:
A. ST 8RT 234A F ded ST & B. ST GIRT 234D & dgd &I &

C. STIST YRT 234B & dgd e & D. SISl &RT 234C F dgd T &

Q87. Mr. X a government employee gets Rs. 20000 as entertainment allowance for the year
out of which he spends Rs. 2000 for official purpose, Rs. 5000 for personal purpose. One
fifth of his basic salary amounts to Rs. 8000. The taxable entertainment allowance is:

A. 20000 B. 13000
C. 18000 D. 15000

Q87. AT X T TN FHUR! § I8 v a¥ & 20000 FARSI sicaT Herdr § o ¥ 32 eI 3T &
frT 2000 T9& TFuT ASH 3327 F fAw 5000 TUT @A FU| 37% HA daT F1 9raar FEar 8000 FC | A TABT
& 37T FT AT AASAA HedT F4T grem?

A. 20000 B. 13000

C. 18000 D. 15000

Q88. An individual who satisfied one of the basic conditions and has been a resident in
India in 2 out of 10 preceding previous years, is said to be:

A. Resident B. Resident and ordinarily resident

C. Non resident D. Resident and not ordinarily resident
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Q88. % fFd s AT af A A MU g ik N ReA 10 AT 2 awi A s A T @, 39
Aeafaf@a & ¥ Fa7 a1 STeem:
A. fFardr B. faard 3R IrAId: Harey

C. T e D. Aard 3tk I graeTa: Hardh

Q89. National income is measured by:

A. Ministry of Finance B. CSO (Central Statistics Office)
C. RBI (Reserve Bank of India) D. SBI (State Bank of India)
Q89. TAY 1T fFad gaRT AT JAeht

A. e FaTe B. #.UH.37M. (FET AT o)
C. 3R.&.31m8. (IRAT Red dF) D. TH..3ME. (HRAT e IF)

Q90. In India most of the unemployment is:
A. Disguised B. Open
C. Cyclical D. Urban
Q90. Ra & Wi R Arafaf@a & & Far §:

A. Y=BoT B. Toll

)

C. ThIg D. gl

Q91. The main cause for unemployment in India is:
A. Raising prices B. Increase in public expenditure

C. Defective mandatory policy D. Improper utilization of resources

Q91. R H AU FT FET FRT ¢

A. Fradr 7 gfg B. i < 7 i

C. amquT siferard wfa D. HETErt T ifRd 3T

Q92. refers to public revenue, public expenditure and public debt.
A. Monetary B. Fiscal

C. Industrial D. Foreign
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Q92. e AIAATAF TeIEd, AHdoATa® 47 A s HOT Y Hefia Far ¢
A. AifgE B. ISThINT
C. 3z D. fagefr

Q93. Contraction of demand is the result of:

A. Decrease in humber of consumers B. Increase in price

C. Increase in price of related goods D. Decrease in the income of consumers
Q93. Arafaf@a # & fFud IRUTATIET AT & FAT g §:

A. SIS S HEar # FA B. S ¥ Y

C. Gfed aeg3it T et 7 gig D. U T 3T & AT

Q94. The price of apples falls by 5% and quantity demanded rises by 6%, this means

demand.
A. Elastic B. Perfectly elastic
C. Inelastic D. Zero elastic
Q94. A% HiY AHA H 5% H g A W 37H Aiar 7 6% F1 IR g8, g9 IF #iar grar 81
A. AIGR B. quf eieer
C. &g Tgd D. T dlEIER

Q95. Deflation has a side effect of

A. Increase in unemployment B. Increase in demand

C. Economic depression D. Increase in individual expenditure
Q95. TR (Bwerer) #1 gowsma gl §1

A. AT & 3fg B. &l & g

C. e #dr D. gfederd @9 & gig

Q96. Which of the following is the best example of agreement between oligopolists?
A. OPEC B. WTO
C. SAARC D. GATT
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Q96. A7 ¥ ¥ #iF sen=wR (Nfaauifarew) F fiv FH=la F1 TV 36T 3T 82

A. 3rdrg.. B. Secg.&1.3M.
C. TH.U.U.3TR. 4. D. h.u.drén.

Q97. Calculate AFC at 2 units from following table:

Output 0 1 2

Total cost 580 695 850
A. 105 B. 235
C. 180 D. 290

Q97. A% arfasr & 2 swsal # T.uh.Hl. Y ToraT HI:

Output 0 1 2

Total cost 580 695 850
A. 105 B. 235
C. 180 D. 290

Q98. "Debit the receiver and credit the giver" relates which among the following accounts?

A. Personal Accounts B. Impersonal Accounts
C. Real Accounts D. Nominal Accounts
Q98. "YIcasdhdl H A FY 3 & g F FTAT" Tg A ¥ FH @ @ wa T 82

A. safederd @ B. fadafeas @

C. aredfas @rd D. ATHATT @I

Q99. What is the primary objective of Tax Audit, as per 44 AB of Income Tax Act 1961?

A. To assist the management in computing tax B. To assist the tax authorities in assessing the
liability accurately correct income of the assessee
C. To assist the management in regard to D. To assist the tax authorities to collect more tax
effective tax planning revenue

Page 25 of 26

Download from www.MsEducationTv.com



Afternoon Session

Q99. IIFT HAFATH 1961 ¥ 44 AB F ITUR FI ET THET FT TTUMAF 3227 FIT 82

A. T ST H TH T § YRV Flal H JaereT B. feiRe T @8Y 3 o1 Fodished A H
Heg, YA eI T HgrIeT e

C. JHTAT Y AVSTAT & T H a8 HT TErRIdr e D. 318 FT AT THIAd el & [T Y ATARTRAT T
TETIAT AT

Q100. IT of a person is determined on the basis of his:

A. residential status in India B. citizenship in India

C. residential status outside India D. citizenship outside India
Q100. s gfFa # J1E.A. 39S 37 IYR W ARG i et § -

A. R T e fEafa B. $IRa & AR

C. ¥R & &g marey f&ufa D. $IRT & ST T AR
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Q1. led the Indian freedom struggle through the 'Indian National Army'.
A. Lala Lajpat Rai B. Subhash Chandra Bose
C. Bipin Chandra Pal D. Dadabhai Naoroji

Q1. A WA T FT & ATCTA F HRAT FIATaT HATH FT Aqed 9411
A. SITelT SIToiqd I B. gammveig S

C. e deurer D. rerers AR

Q2. International Yoga Day is celebrated on every year.

A. 5t September B. 14t February

C. 215t June D. 5t March

Q2. TS AT Raw & A FY HATIT AT §

A. 5 fRdsx B. 14 ®adr

C. 2134 D. 5 &

Q3. Gir Forest National Park Wildlife Sanctuary is in

A. Bihar B. Maharashtra
C. Uttar Pradesh D. Gujarat

Q3. iR a1 T 35T 31X F=geita FRT #EI

A. S8R B. AgRTST

C. 3ca’ wer D. I[eRId

Q4. “"Parent's Worship Day" is observed on 14th February in

A. Chattisgarh B. Uttarakhand

C. Rajasthan D. Madhya Pradesh
Q4. ' Ag-Rq Raw' # 14 I F A[RT 1T B

A. BedraaG B. 3ccRT@s

C. TerEu= D. HEF weer
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
Evening Session

Q5. It has been found that Rakhigarhi village in the district was one of the oldest
ancient Indus Valley Civilization sites.

A. Rewari B. Mewat

C. Hisar D. Fatehabad

Q5. W UT AT E & orer &7 Treferd) o, Y aréY warar & wad g Tydt & § o a1

A. ars B. #ard

C. IR D. BdgleIg

Q6. During the Mahabharata days, Haryana was known as

A. Dhandharti B. Bahudhana
C. Iswar Niwas D. Veerdharti
Q6. AEIHRT & feat &, gRmom #i ATH @ SATAT SATAT AT
A. STERCY B. g

C. SR fAarg D. &R

Q7. History mentions that , the Chinese scholar visited Thanesar during the reign
of King Harsha.

A. Fa Hien B. Megasthenes

C. Sung Yun D. Hiuen Tsang

Q7. sfag g & 3oo@ Aaar ¢ Helt fagare, TSI &9 & HAHTT A YHAET AT A
A. &1 fRareT B. AITEYAST

C. gar geT D. & cmeT

Q8. In the Third Battle of Panipat which was fought in the year 1761, Ahmed Shah Abdali,
the king, defeated the Marathas.

A. Afghan B. Persian
C. Mongolian D. Turkish

Q8. 1761 & Y 71§ grehiua &y fud azg & FIGeNTE EHE ATE sgTall A FAST I gIAT|
A. 3Tl B. ®IRET

C. #mfeora=T D.qﬁ
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Q9. Indian actor Parineeti Chopra was born in

A. Ambala B. Faridabad
C. Rohtak D. Rewari
Q9. R I aRoiifa AasT 1 = :T'garrem

A. 3rFdTeT B. wiererg
C. Vgas D. @rsr

Q10. Indian wrestlers Geeta Phogat and Babita Phogat belong to which place in Haryana?

A. Rewari B. Hisar

C. Rohtak D. Balali

Q10. ¥R ggerare dr wiere 3R F&fidr wiere gRATOT # 7 918 FT W arelt 82
A. arsr B. e

C. Ugds D. Selrell

Q11. Shri.Om Prakash Dhankar is the current ________ Minister of Haryana.
A. Agriculture B. Education

C. Tourism D. Transport

Qll. M AT IFIT YART gRAOT F TAdAA _ FA §)

A. Y B. Rram

C. T D. gRag

Q12. What is the new name of Mewat district?
A. Balrampradesh B. Balramgarh

C. Nuhar D. Nuh
Q12. AT I FT 74T ATH 4T §?

A. TeRTHYCRT B. SoRHIG

C. FeR D. 7§

S
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Q13. Who was the first Indian woman to win a gold medal at the Commonwealth games
2010?

A. Kirti Singh B. Sakshi Malik

C. Geeta Phogat D. Babita Phogat
Q13. FAAIY AFW 2010 H Fgol ygF Sider arel ygel IR ARFST Fier A2
A. i g B. @meft Afereh

C. 3frar wiere D. &I $rare

Q14. Post Office Passport Seva Kendra (POPSK) is currently available in two districts of
Haryana. Which is the third district identified to have a POPSK?

A. Kurukshetra B. Faridabad
C. Sirsa D. Bhiwani

Q14. rFuT e dar Fg (M.t dow.F.) adqre & eRaon & @ St F sueer ¥ AN Ty FT AT FAT R

et 9.3 .o &, Y T @ arely #2
A. Sma%-ar B. WIEEE
C. @ D. farr

Q15. Surdas flourished during the reign of which Mughal emperor?
A. Akbar B. Humayu
C. Aurangzeb D. Jahangir

Q15. ¥ FI FATE & ATHASI H YIGTH HT Igcl ATH 3T UT?
A. 3RS B. gAY
C. 3Rl D. STERiR

Q16. Which of the following weekly newsletter is published from Rohtak?

A. Mera Rohtak B. Haryana Tilak
C. Mera Haryana D. Apno Desh
Q16. NgaF ¥ Mwafaf@a # ¥ Fla a1 WreaiRs g THRT grar 2
A. A AT B. gRamom foern
C. 3T g D. 319« g2r
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Q17. ‘Amanat Ek Shahid Ki’ is written by

A. Shree Dhar B. Guru Charan
C. Balram D. Krishna Bachal
Q17. 'IAd T&F AL ' F AT@H g

A. 5T R B. 7% o1

C. FoIH D. 0T aTeel

Q18. Banabhatta was a poet in the court of

A. Babar B. Harshavardhana
C. Akbar D. Gopal Singh
Q18. amrsTE & @R # U F3 A

A. STeT B. gYatie

C. 3T D. 3N4Ter &g

Q19. Which of the following is a hill station in Haryana?

A. Karnal B. Sonipat
C. Pinjore D. Morni
Q19. a# ¥ &ie, gRATOT FT vF Ber TEAA 2?

A. FHTATH B. ®isiad
C. Hak D. ARG

Q20. Which district of Haryana receives minimum rainfall?

A. Kurukshetra B. Sirsa
C. Ambala D. Hisar
Q20. RN # Fy O & gad HA anf gt 2

A. e B. fawar
C. 3fFdTem D. fgarR
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Q21. Damdama lake is situated in district.

A. Gurgaon B. Hisar

C. Rohtak D. Faridabad

Q21. gHEHT 3l orer & feua B

A. I3t B. i

C. U D. wliersTe

Q22. The Aravalli Range that runs through Haryanaisthe ______ range.
A. Eastern B. Southern

C. Central D. Northern

Q22. 3rrael gad Ao ST gRAOT F gt oRar g ag ____ vdd Aoft g1

A. gdf B. afarofr

C. 7 ey D. 3cadl

Q23. In most parts of Haryana, you can find the type of soil cover.
A. red B. sandy loam

C. desert D. clay

Q23. gRamon & srftrwier Rwwt &, 3mger AN q@a 1 AT T
A. T B. ¥J$ a1

C. Yfareamir D. ety

Q24. The Governor is appointed for a term of years.

A. 4 B.5

C.6 D. No limit

Q24. =TS FY ast i rafr & v Frgea R s @

A. 4 B.5

C.6 D. I AT 7T

Page 6 of 28

Download from www.MsEducationTv.com



Evening Session

Q25. Who appoints the Advocate-General of a State?

A. Chief Justice of India B. President of India

C. Prime Minister of India D. Governor of the State
Q25. TF UsT F Fegiftraaar #1 fAgfFa i Ftar 8?2

A. R T H&F warareier B. $IR & ISeafd

C. #RA & JuTe HAY D. TS &l TsgUTe

Q26. The Haryana legislature is

A. Unicameral B. Bicameral

C. Both Unicameral and Bicameral D. Neither Unicameral nor Bicameral
Q26. gRToT #r el gl

A. T HeaAlg B. & Hewig

C. U |l 3R & Al gt D. o af T& "eoig 3R o & ar Feeiry

Q27. Haryana celebrates "Tree Day" on

A. 15% Aug B. 15t July
C. 15t May D. 15t Mar
Q27.FRaon ___ # "gaT Raw" A B

A. 15 30Ted B. 15 a1
C. 1573 D. 15 A

Q28. Which of the following is the most prominently found tree in Haryana?

A. Shisham B. Peepal

C. Eucalyptus D. Aloe Vera

Q28. frarfaf@a # & Fla @1 93, TRAVT # FH W@ T F 9T A AT 93 72
A. ofrer B. oo

C. ghfaced D. Tl &

Page 7 of 28

Download from www.MsEducationTv.com
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Q29. International Horticulture Market was set up in which district of Haryana?
A. Panchkula B. Sonipat
C. Hisar D. Gurgaon

Q29. IR FRTATEAT I9R, fFy e & d9mT I o412
A. Fagell B. Hi=iad

C. Rar D.a;swia

Q30. Pick the odd one out:

Scissor, Knife, Sewing machine, Axe
A. Scissor B. Sewing machine

C. Axe D. Knife

Q30. WA FT TIA F:

&, =1, Rrens #efe, Feerst
A. F=I B. fars sefet
C. W D. I1%

Q31. Find the analogy.

mckC : Ckcm :: jhty
A. JHTy B. Ythj
C. JhtY D. YHTj

Q31. FATAAT HT 9T A9MT|
mckC : Ckcm :: jhtY

A. JHTy B. Ythj
C. JhtY D. YHTj

Q32. What should come at the place of question mark (?) in the following number series?

14, 38, 52, 66, ?, 94, 108
A.72 B. 70
C. 80 D. 88
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
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Q32. farafaf@a Tear sf@en & e et (?) F T W F47 gl A1iRT?

14, 38, 52, 66, ?, 94, 108
A.72 B. 70
C. 80 D. 88

Q33. In a certain code, ROSE is written as SPTF. What will be GARDEN written as?
A. HBSEFO B. GARNED

C. BSHOFE D. GRAEND

Q33. @& [ARad Fis #, ROSE F SPTF fa@1 J1a1 ¥ GARDEN Ft 1 for@m smeen?

A. HBSEFO B. GARNED
C. BSHOFE D. GRAEND

Q34. 20500/500/10 =
A. 1.5 B. 2.2
C. 4.1 D. 3.3
Q34. 20500/500/10 =
A. 1.5 B. 2.2
C. 4.1 D. 3.3

Q35. A circle is divided into 15 equal parts in which 7 parts are shaded. If John throws a
dart at the circle, what is the probability that the dart will hit on the shaded part?

A. 7/15 B. 5/15

C. 6/15 D. 1/15

Q35. TH Teh F 15 RIaR 7011 F anfora fvam = § S & 7 it & oifea & = §) Iy ST s s &
T 3¢ T &, dY ST FIAT GHTEAT § fF 3¢ SR H1ET 9T T2

A. 7/15 B. 5/15

C. 6/15 D. 1/15
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Q36. A retailer purchased 15% of rice and 20% of wheat respectively from a wholesale
unit. Another retailer purchased equal quantity of rice and wheat amounting to 25% from
the same wholesale unit. Find the total percentage of rice that was purchased from the
wholesale unit?

A. 25.5% B. 24.5%
C. 26.5% D. 27.5%

Q36. TF eI fashdl & T U b1 A FAA: 15% Arael 3R 20% A @ET| T 37 Ger v A 34 9
fashar & SR~ aR&ATOr H 25% wrae AR A @lien| 9w fFar @ Fo fhaer yfaera araer wder 2ar?

A. 25.5% B. 24.5%

C. 26.5% D. 27.5%

Q37. Prakash spent Rs.1340 on repairing his camcorder, which he had bought for Rs.25000
one year back. He sold it for Rs.29800. What percentage of profit did he earn?

A.12.39% B. 11.45%
C. 13.13% D. 14.46%

Q37. Y o 3T FAFIET H AFAT W 1340 393 @9 FU, G 30 v A1 98 25,000 93 7 @der o1
39 50 ZQSOOWﬁWWIWﬁmﬂTqﬁ‘Qﬁwgm?

A.12.39% B. 11.45%
C. 13.13% D. 14.46%

Q38. An electric motor in a washing machine converts electrical energy into
energy.

A. Chemical B. Mechanical

C. Gravitational D. Radiant

Q38. T aifdrer #wafier # v sfFes Ay, Fagga st FolT & aged gl
A. TR B. i

C. ecdre D. fafaor

Q39. The common name of Ethanoic acid is
A. Lactic acid B. Acetic acid

C. Boric acid D. Sulphuric acid
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Q39. TNfaF TRAT FT 31 A1 |
A. dfFes tfas B. tfafes tias
C. aIR= tis D. TowIR® TRls

Q40. Anaerobic respiration takes place in the absence of

A. Mitochondria B. Oxygen

C. Hydrogen D. Stomata
Q40. TaARIRA® eTHH, & sreqafeufa # gyt §1

A. ATSARIT=gaT B. 3fferdistet

C. grzgei D. Y

Q41._ 2 is the synonym of "memorable”.

A. Monument B. Memorial

C. Unforgettable D. Uninteresting
Q42. is the antonym of "populous".

A. Less populated B. Very popular
C. Overcrowded D. Filled with

Q43. Identify the meaning of the idiom:

"Blessing in disguise."

07, Auditor (Local Audit Department, Haryana)

A. Something that is not favorable B. Something borrowed from someone

C. Something that is praiseworthy D. Something that seems bad at first, but is

actually favorable

Q44. The sentence given below may contain one or more mistakes. Identify the correct

sentence.

"Sheela is going to library to see the friend."

A. Sheela is going to the library to see friend. B. Sheela is going to library to see the friend.

C. Sheela is going to the library to see a friend. D. Sheela is going to the library to see the friend.
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Q45. Complete the sentence by choosing the correct form of the verb given in brackets.

Reema ran away when she
A. see

C. had seen

Q46. A @ ereg T AT reg TS |

%ol

N

A. "fder
C. fex

Q47. MY @ ereg #1 BT (A1) g a=y |
faare

A. AT
9

C. g§f&

Q48. Y@ifha FeTaX F1 3udFa e qard|

(see) me.

B. sees

D. saw

B. I

D. HaY

B. farer
D. g{refeT

Rgrar wisr 1 S@at wfrrar srdwarr sief e oo

A. FHASR gl

C. H &l

Q49. Y faW reg F1 Thaad T |

T
A. oo

C. #relr

B. 37931 & =

D. feell &I FTF FATS FET

B. #Tel

D. #Teet
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Q50. = fad ereq FT g™ |

g
A. gefrar B. gefray
C. gfer D. gf=eray

Q51. Which financial statement represents the accounting equation: Assets = Liabilities +
Owner's Equity

A. Income Statement B. Statement of cash flows

C. Balance sheet D. Profit & loss Account

Q51. Fi &1 R faravor 39 Awiwa FHIFIOT FT TEqd FT §: FOfeadt = IFa¢ + F@wt A s
A. 3T faer B. e JaTg faaxor

C. doF e D. =e7 AR gifel @rer

Q52. Money spent Rs. 100,000 as travelling expenses of the directors on trips abroad for
purchase of capital assets is

A. Capital Expenditure B. Revenue Expenditure

C. Deferred Revenue Expenditure D. Miscellaneous Expenditure

Q52. Yeitra wufeadt i wlig & faw e gR w faderst i amm & faw fFm r=r 100,000 w9T 7 @+
_®

A. Ielidere &9 B. ToTed @Y

C. AT Torea e D. fafay e

Q53. Original cost = Rs. 126,000. Salvage value =Rs 6000. What will be the depreciation for
2nd year as calculated using Units of Production Method, if units produced in 2" year was
5,000 and total estimated production was 50,000?

A. 10,800 B. 11,340
C. 12,600 D. 12,000

Page 13 of 28
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Q53. 7 N = 126,000 AT §| T (HAeT) FT {ed= 6000 FTIT §| IcUea $1 515 R F 397er ¥ aroren
ZART GEY qY FT FeAerd fhaa gm, IfE gaY a¥ # 3curest 1 1§ st 5,000 ot 3R AT 3CUTET 50,000
ar?

A. 10,800 B. 11,340

C. 12,600 D. 12,000

Q54. A Bank Reconciliation Statement is prepared to know the causes for the difference
between:

A. The balance as per cash column of Cash Book B. The balance as per bank column of Cash Book
and the Pass Book and the Pass Book

C. The balance as per bank column of Cash Book D. The balances as per Cash Book when a certain
and balances as per cash column of Cash Book amount is paid into the bank

Q54. 3F gAY {aver # ffrT & ¥ F F i 3R F FRON FT 701 T & AT IR Fa@w s
A. U3 T 3R ITE o & ARl HictH & TR AT B. U3 FET 3R I g & I HleH & ITAR AW

C. Vg FET & S HIadH 3R Vb T8 & THhdl AadH & D. Nehs TET & AR AV ST Teh AR TR 6 7
AR AT ST T 975 &1

Q55. Present liability of uncertain amount, which can be measured reliably by using a
substantial degree of estimation, is termed as

A. Liability B. Provision
C. Contingent liability D. Contingent asset

Q55. yfafdaa aRr 1 gdwTe afca, 9% v Afaa Tav & sreparer & 393l garT RAvawsaar § AT ST Fhar
¢, 98 T FgellaT 82

A. giidica B. YTaeITeT

C. 3T EHS Iar D. 3 EH® Fufcd

Q56. In which of the following methods is the cost of the asset written off in equal
proportion, during its useful economic life?

A. Written down value method B. Straight line method

C. Units of production method D. Sum of the years' digits method
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Q56. frafaf@a # fra RAfYr & wofeq v amra 3 swAh snfds Shaer F va R Irequra # F1e & e 82

A. 3EREa e R B. Al Tk Rk

C. SHISIT HT 3cdTesT afer D. aut & Irer- f3foe I

Q57. Cash book is a type of but treated as a of accounts.

A. Subsidiary book, Principal book B. Principal book, Subsidiary book

C. Subsidiary book, Subsidiary book D. Principal book, Principal book

Q57. \&s Td FT TF YR &, dAfheT g @rar : #3990
& el 81

A. gl qEcdeh, AT JEdsh B. AT JEIH, Heldsh TEAH

C. "HglIsh q&deh, HeTds JEdh D. AT qEds, AT JEds

Q58. Accounting Standards in India are issued by

A. Central Government B. State Government

C. Institute of Chartered Accountants of India D. Reserve bank of India
Q58. R & @T AH ZarT Iy e o §

A. Feel TER B. I5T IR

C. $¥ITYL 3iTh TS Tah3eH 3w sf3ar D. #RcT Rerd S

Q59. X Ltd. had allotted 10,000 shares to the applicants of 14,000 shares on pro-rata basis.
The amount payable on application is Rs.2. Mr. Vineet applied for 420 shares. The number
of shares allotted and the amount carried forward for adjustment against allotment money
due from Mr. Vineet will be

A. 60 shares; Rs.120 B. 340 shares; Rs. 160
C. 320 shares; Rs. 200 D. 300 shares; Rs 240

Q59. X faffits A FYUTUra 3TUR W 14,000 AT F raewl F1 10,000 W Irafed vl smdea w7 af¥r 2
TUT 3| Reha o 420 Y & e smde B smafea fre oo Rt A e sk Refla @ & arae oftr &

AT ¢ H wras F I arel vl g
A. 60 ¥RR; 120 T B. 340 ?9=K; 160 &UT
C. 320 =X; 200 T D. 300 2R=K; 240 &IT
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Q60. In the books of D Ltd., the machinery account shows a debit balance of Rs.60,000 as
on April 1, 2012. The machinery was sold on September 30, 2013 for Rs. 30,000. The
company charges depreciation at 20% p.a. on diminishing balance method. Find
Depreciation for 2012-2013 and Profit or loss on sale of machinery.

A. Depreciation = 6000; Profit/Loss = 6800 profit B. Depreciation = 9000; Profit/Loss = 6800 loss

C. Depreciation = 4800; Profit/Loss = 13200 D. Depreciation = 12000; Profit/Loss = 13200
profit loss

Q60. D fafaes $I framel A, 1 3t 2012 Ft 60,000 FIT FHAA @rar 3fae Ay @ @1 &1 I8 7A=d 30
fdax 2013 # 30,000 F9T # = 7E| FIA 20% T aF gedt A (BARRET sRver) Argemm yomreh w
& 91T AT §1 2012-2013 & AT g1 AT HY 3T Al Y fashY 93 amsr a1 @1fd &1 gar dome?

A. HoIgrd = 6000; @me7/g1fe = 6800 ey B. FeTerd = 9000; omst/gTia = 6800 grfel
C. HeTgrd = 4800; =me7/gifa = 13200 omst D. HeIg = 12000; omsi/glia = 13200 gl

Q61. To test whether sales have been recorded, the auditor should draw a sample from a
file of

A. Purchase orders B. Sales orders

C. Sales invoices D. Bill of loading

Q61. g JATT w3t F AT fF a1 fshy gor Y 31§ &, ar@r adats & BIS @ THAT AT ATRTI
A. T 3TeA B. farshr 3meer

C. foshr arerrs D. oigTe &7 faer

Q62. For vouching of which item, the auditor is most likely to examine cost records?

A. Commission earned B. Bad debts recorded

C. Credit sales D. Sale of scrap

Q62. ¥ #ig & vegg« (a3fR) F AT, @ wliad gann ana ReE f Jra F H ga@ 70F gHE=r §?
A. TSI e B. &ot farar arar gard %o

C. 3uR fashr D. &hy &I fashr

Q63. Audit of transaction does not include
A. Propriety audit B. Efficiency - cum performance audit

C. Audit of receipts D. Audit of expenditure
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Q63. da-&aT FY a@T gdlam & AT AT B
A. 3R oar gder B. &THdT UG foIsqTesT SIEmaiat
C. wifcaat &1 or@r e D. =g &I oi@r et

Q64. Which of the following sections deal with qualifications of the auditor?
A. Section 141 B. Section 224
C. Section 226 D. Section 143

Q64. frafaf@a & ¥ Fia @ arr Awr wders H Avgar ¥ GERT 2
A. EIRT 141 B. &IRT 224

C. YR 226 D. 9T 143

Q65. Which of the following expenses should not be treated as capital expenditure?

A. Expenses paid on installation of a plant. B. Cost of dismantling a building in case a new
building is to be constructed on the land.

C. Legal expenses incurred to defend a suit D. The fees paid to engineer who constructed the

related to title of patent. The suit has been lost. plant.

Q65. RFfafla & ¥ Fia ¥ =74 I GSlTd T & T 7 FET AT STl AT

A. TIT I TATIAT TR AT fohdT 3T &2 | B. U& AR &I TR &1 @ afg 38 1ff R o 718
SARA 9T STt 8Tl

C. 9¢T & &A1 § HeiftIdT FHeheH & Fa1d H dgel ohaT 1T D. HIT T TAHTOT el arel SlfardX Sl B T $ITcTeT |
T G|

Q66. Auditing standards differ from audit procedures in that procedures relate to

A. Audit assumptions B. Acts to be performed

C. Quality criterion D. Methods of work

Q66. W TET AT @M THaT FFha13it ¥ Bt & FIfF 3 ¥ gafta g &
A. oGT &t Aegad B. fo¥sares fhT Sifet aTel

C. [uTdedT T Hater D. & & & allsh
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Q67. Equity shares of ABC Ltd. held by XYZ Ltd. are in the custody of Stock Holding
Corporation of India Limited (SHCIL). The auditor may verify this investment by

A. Reviewing last years' working papers.

C. Obtaining a certificate from SHCIL

B. Obtaining a certificate from a responsible
official of the ABC Ltd.

D. Obtaining a certificate from XYZ Itd.

Q67. XYZ faffits garr ABC faffts & W@ 71w sfFadt IR weiF gifes smfvers 3itw i3 dfaes

(va. . .ams.ua. ) i FAET # §| @ e g@rn 0 Ade i g

A. o a¥ & &IH & qEddel Hr ST Fah

C. TH. 9. U378, Uel. ¥ Teh YHATUT U UTod Hleh

FT 37 g B

B. ABC faffics & s foFaeR 318l & T JA0T ux
gred Feh

D. XYZ faffics & Ua YHUT 9T 9red aleh

Q68. Which of the following is not an example of a circumstance, in which additional tests
of control will not be performed after obtaining an understanding to plan the audit?

A. Controls are known to be cost ineffective.

C. Controls are effective and evidence already
obtained is adequate to support a planned
assessed level of control risk which is less than
high.

B. Controls are effective but auditor opines that
performing tests of control and reduced
substantive tests would not be cost effective.

D. Performing extensive substantive testing would
not lead to efficiency.

Q68. fFs # ¥ a1 v ¥t aRFRURY F1 3eTevor gt &, ot am fian F fAw s A JEER yea F F a5

=T @1 rfaRed adietor g fFar sTeen?
A. TSI=0T HT 9T TTHATAT AT STl g |

C. fg=or garrdy § 31X gger @ wred fhw arw waATor fAEer
SNTEH & ER & Hedishel Hlal B GASA L & T
TaTeg €, S 3= ¥ A g

Q69. A typical factory overhead cost is:
A. Freight out

C. Depreciation on machinery and equipment

B. fAI=0T GeTdll g1t & oifeheT of@r gdieteh & Hlelell g foh
fAZFOT AT GOETOT AT 3R FeT TETOT H FAT AT
AT JHTEY g1 gra|

D. U9 #eT TETOT A & FHRIeldll =fel g1

B. Stationery and printing
D. Postage
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Q69. AFT H ¥ FIT U FRTEA $T AHT FILT AT §:
A. STedY ATl #1eT B. Ty 3k Mifdar
C. #AMN 3R 370l W} 519 D. ST&-cag

Q70. Which of the following cost is associated with Labour turnover?
A. Preventive Cost B. Training Cost

C. Sunk Cost D. Pre-production cost
Q70. fara # A FT W AT 4o (AT TAITR F WY 3T g% 82
A. fAaRe omeTd B. 9fRI&1oT emera

C. fawer amerd D. qd-3cures dmTd

Q71. Which among the following is not a cause of labour turnover?

A. Personal Cause B. Unavoidable Cause
C. Avoidable Cause D. Predictable Cause
Q71. RAFafaf@d & @ Fia 33 (AT) TG FT Th FROT AGT 82

A. IFTITT HROT B. 3raRgry &RoT

C. @R sRor D. 3rUf&dT HRoT

Q72. If the minimum stock level and average stock level of raw-material A are 4,000 and

9,000 respectively what is its re-order quantity?

A. 10,000 B. 5,000
C. 13,000 D. 15,000

Q72. I A A F FTA-ATH &I 7I-1aA FeiF T AR 3itwa weie T F#e: 4,000 311 9,000 3, ot Fa3w fF
3WHT T TS AT et graft?

A. 10,000 B. 5,000

C. 13,000 D. 15,000
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Q73. Unit cost information is important for making all of the following marketing decisions
except

A. Determining the selling price of a product B. Bidding on contracts

C. Determining the amount of advertising needed D. Determining the amount of profit that each
to promote the product product earns

Q73. 551§ dNId I+ RI Arfaf@d Qoo b d @ 1 srsaT weft & fow Ageaqt
A. 3cdTe & fshr Fear fefRor B. &ehl T STell STaTTeAT

C. 3¢UTG I §EIaT &t & fAlT AT AT HT A & D. T 3c9TG GanT ifoid T ST arer aret v AT &
ferefiRor ferefror

Q74. Which among the following statements is not true?

A. P/V Ratio = Change in profit/Change in sales B. Total Fixed Cost = Total Contribution + Profit
x100

C. P/V Ratio
Q74. Arafaf@a # ¥ Fia a1 Fya g7 7 &2

A. /8T 3aTe = et H gRacleT/ Tkt & IRacder x100  B. e AT @RTd= Fel TITETT + ofref
C. /Y 37equre = T8 wmere/.8. e D. d/dr 31equrel = Arere/fashr

Fixed Cost/BES D. P/V Ratio = Contribution/Sales

Q75. Which among the following is not used for apportionment?
A. Labour Cost B. Work Cost

C. Sales value or quantity D. Gross profit on sales

Q75. Arfaf@d & ¥ frewr 3Tl yerraa (3mei=de) & forv agt fFar amar @2

A. 3F AT B. & oI
C. foshr Hoar 3rar Arr D. fshr ox Aehel amer

Q76. Which among the following is not an unavoidable cause?

A. Seasonal nature of business B. Discontentment over the job / working
environment
C. Change in plant location D. Disability, making a worker unfit for work
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Q76. Arafaf@a # ¥ Fa1 va 3aRed FrRoT 7E 82
A. TTAR T HGHr Jepfar B. SIH IT HIH JTATEROT T IHATS

C. TIF & T # aRadeT D. faerelierdr, 1 & foIT ga T 31319 8=l

Q77. The rate of interest is 12%, the price per unit is Rs.50, the number of units required in
a year is 5000 and the cost of placing one order and receiving the goods once is Rs.54. How
many units should be purchased at a time?

A. 250 units B. 300 units
C. 400 units D. 450 units

Q77. U HY & 12% @, wfar Ifeie FoAd 50 TUT §, TF ¥ # 3Taea® swsAl F1 §&AT 5000 § AR v AR
o 3R Te IR AT YT FI Y AT 54 FAC | A A0 B UF THY W Fadr swEar @il e aRe?

A. 250 Srsar B. 300 SsAT
C. 400 srsar D. 450 sahrsar

Q78. From the following data, find out the Break Even Point of Lee Ltd.
Variable Cost = 60,000 (60%), Fixed Cost = 30,000 (30%), Net profit = 10,000 (10%) and
Sales = 1,00,000 (100%)

A. 65,000 B. 75,000
C. 70,000 D. 85,000

Q78. T 31eT ¥ Lee fAfARE & dnsr-3ranst YUY (3% gaa wage) aad|
IREdHAT deTd = 60,000 (60%), AT @mra= 30,000 (30%), YE @17 = 10,000 (10%) 3R fshr =
1,00,000 (100%)

A. 65,000 B. 75,000
C. 70,000 D. 85,000

Q79. Calculate Marginal Safety if a company produces single product which sells for Rs.20
per unit. Variable cost is Rs. 15 per unit and fixed overhead for the year is Rs. 6,30,000 and
profit is Rs. 60,000.

A. 2,50,000 B. 2,60,000
C. 2,40,000 D. 2,30,000

Q79. I TF HYs) T Tehel 3c9IG HT 3cUTed FId! ¢ 5T 20 FTIT 9y 3FE I Aevar §1 3R 901 15 T© gfy
ga1$ ¢ 3 a¥ & AT 2R 3aves 6,30,000 TIT JAUT AT 60,000 T &, aY IWHT AT AR FT I0TAT FH|
A. 2,50,000 B. 2,60,000

C. 2,40,000 D. 2,30,000
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Q80. Three workers A, B and C are put on a common task for which the total remuneration
is Rs.150. A works for 40 hours, B works for 60 hours and C works for 44 hours on the job.
The hourly rate is Rs. 0.75 for A; B gets Rs. 0.80 per hour while C gets Rs. 0.50 per hour.
What remuneration will each man get?

A. A=Rs.45, B =Rs. 75, C = Rs. 33 B. A =Rs.40,B =Rs. 70, C = Rs. 30

C. A=Rs. 50, B =Rs. 80, C=Rs. 37 D. A=Rs. 40, B

Q80. T FH A, B 3 C I v A1t 1o 9T 9 forwa faw For miisfs 150 Taw 81 A F 40 e w17 ¥,
BA60 R FHFAINCA44 R FHFAN AF v ufd aerer 0.75¢; B v ufd gerev 0.80 3R C &
faT gfa ger g¥ 0.50 §| aY Ia1Bv & A+ e w fhdar aiivsf@s Baem)

Rs. 70, C = Rs. 44

A. A = 45 §9T, B = 75 9T, C = 33 U B. A = 40 9T, B 30 ®9T

70 ®9T, C

C. A = 50 ¥9T, B = 80 ®9T, C = 37 &qU D. A = 40 T, B = 70 §9T, C = 44 §IT

Q81. A company produces product A which sells for Rs.20 per unit. Variable cost is Rs. 15
per unit and Fixed overhead for the year is Rs. 6,30,000.

Calculate sales value needed to earn a profit of 10% on sales.

Calculate sales price per unit to bring BEP down to 1,20,000.

A. Sales value = 1,50,000 , Sales to bring down B. Sales value = 3,00,000, Sales to bring down
BEP = 23.25 BEP = 30.25

C. Sales value = 2,50,000 , Sales to bring down D. Sales value =2,10,000 , Sales price to bring
BEP = 25 down BEP = 20.25

Q81. U FYaAl A 3cUIE FT 3cUIEA FI ¢ ST 20 FIT Y FH1E 9T a7 AT 1 IR AT 15 39 i 318 &
3k a¥ & AT T 3tawes 6,30,000 FT &

fashY 9T 10% T AT FAT Y FTWA F HTAR Ay HeT AT 1017 F

#.5.9. %1 1,20,000 a% A9 @ F v iy gfae fhr 7o F oE F:

A. T3 7o = 1,50,000 , Sr.g. @ S s ot & faw B, foshr #ed = 3,00,000, .87 &7 A9 o & faw
foshr = 23.25 fashr = 30.25

C. {9 gz = 2,50,000, 3. . Hr AT o=t & fdw  D. foshr {e= =2,10,000 , T.3.9. &1 o o= & fow
fashr = 25 fashr = 20.25

Q82. XYZ Ltd. requires component A for manufacturing their products. Calculate the
Economic Order Quantity using the information given below.

Annual demand for component A = 8,000 units, cost of placing an order = Rs. 200 per
order, cost per unit of A Rs.400, carrying cost % p. a 20%.

A. 300 units B. 200 units
C. 250 units D. 350 units
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Q82. XYZ fAffes #! 379at 3cqrel & AT & AT gew A &Y 3maegFar &1 A & ¢ AT F 3gAnr F i
JTERA ATAT Y T HY |

oeH A ¥ AT a1f¥is Afar= 8,000 HTSAT, M 2 A AHIT = 200 T yfy 322w, A F IfY FHTS AT 400
W, ufd ¥ TEREE danea 20%|

A. 300 srsar B. 200 ShsAT
C. 250 s&rsar D. 350 sahrsar

Q83. In a company, weekly minimum and maximum consumption of material A are 25 and
75 units respectively. The reorder quantity as fixed by the company is 300 units. The
material is received within 4-6 weeks from issue of supply order. Calculate minimum level
and maximum level of material A.

A. Minimum = 100 units, Maximum = 300 units B. Minimum = 200 units, Maximum = 600 units

C. Minimum = 250 units, Maximum = 650 units D. Minimum = 150 units, Maximum = 350 units

Q83. UF Fuell 7 A WAt Y WicdTied wgota AR fAwae @ua A 25 AR 75 sFEAT ¢ FIA @R
fruife ger: amaer AT 300 sw$AT ¥1 AT M F IR @A F 4-6 FeaTe F AW WA e el B W A
& FgeTaH Ta¥ AR s FTaw A e F

A. SAGH = 100 3HEAT, 3fHdA = 300 FHSAT B. #gsIdd = 200 FH1sdl, HRHad = 600 SHedl
C. #gIdH = 250 FH1sdl, JfUFAH = 650 FHSA D. #gsTad = 150 3Hredl, HRwdH = 350 sHreAl

Q84. Income which accrue outside India from a business controlled from India is taxable in
case of:

A. Residential only B. Not ordinarily resident only

C. Both ordinarily resident and Not ordinarily D. Non-resident

Resident

Q84. #Rd ¥ FIRT fFv I are AR & T HRT F 98T @ 9Ied @1 arell 39 e & @ fFas o FT Iy
gt

A. Fadl faareT B. ddl AMHAY fardr g7

C. grEey fAard 3R gy Fard 78, aet & fav D. IR-fardy

Q85. Dividend paid by an Indian Company is :
A. Taxable in India in the hands of recipient B. Exempt in the hands of recipient

C. Taxable in the hands of company and exempts D. Not taxable
in the hands of the recipients
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Q85. AR FUell GART 3Tt FHAT wAT8iTer @

A. STCaehell & gTUT & 9 H X A9 grar § B. WTccehdT o g1l # e ured giell &
C. huely & gl 7 & Qa7 3R Jrecehed & gl 7 o< D. & QT FAET grar &
gTed gIaT &

Q86. "The value of total output of finished goods and services for any economy during a
year " is the definition of

A. Net National Income B. Gross National Product

C. Gross Domestic Product D. National Outlay

Q86. "TF a¥ ¥ aRret fhelt rdfeavyr & AT AR AT 3R FATEHt F F ScUTET FTHeT", TE #
R B

A. € TS 3T B. Hehol IS 3cUTG,

C. Hehel B 3cUTe D. T uleay

Q87. National Income is viewed in terms of

A. Calendar year (January - December) B. Financial year (April - March)
C. U.N year D. Quarterly basis

Q87. T 3T ¥ AR & Tl

A. FsT a¥ (FAad - GER) B. facdr a¥ (3 - A

C. g U ay D. fa=mr 3mur

Q88. 'VAT' is an

A. Excise duty B. Ad valorem tax
C. Direct tax D. Specific tax
Q88. & (VAT) = gl

A. 3cUTE Yesh B. IUHeT &

C. 9cgeT ¥ D. fafarse &
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Q89. "India's economic policy: Preparing for the 21st Century" is a book written by

A. C. Rangarajan

C. Bimal Jalan

Q89. "sRa FY anfdw Afa: 214t 7 & v A", 77 TTAF

A. 9. TR

C. S#a STt

B. Damodaran

D. Vijay Kelkar

gan forgh 7€ 3
B. galete

D. fasrar Fere

Q90. Which of the following will represent the Tobin tax?

A. A tax levied on Nationalised banks

C. A tax imposed on industries which entertains
contract labourers

Q90. fF # ¥ w1 AR ¢Fw 't werqga FEM?
A. TSE-SH el T ST IAT X

C. &% o Holell HARSIoT §cf 3eAMIT I SIRAT STt arell
T

Q91. Double counting means

A. Counting a product at different stages of
production

C. Counting a product more than once

Q91. g Aard &7 3ref gl
A. 3cures & JAffesT TRON & 3cure $r [sadr
C. T& 3cUIE FT T ¥ 318F TR [Fadr

B. To invest in infrastructural development

D. A tax imposed on all transactions in capital
market for FII

B. 319GcHS [dhrg & 9 hear

D. UH.3M8.378. & v Yot arafi 7 il Sefeed I ofeman
SATeT aTell &Y

B. Counting a product at first stage and last stage
of production

D. Misleading conclusion about size of National
product

B. 3c9TE & Ugel TROT 3R 3ifasd =xor & 3cure & A=ar
D. IS 3G o 3THR & aR H HHS fTshy

Q92. The gap between Domestic product and National product is significant for a country

with
A. Small foreign investment

C. No foreign investment

B. Medium foreign investment

D. Huge foreign investment
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Q92. W 37UTg AR WA 3791 & oI & IHe} 0F arer 3 & fAw Aot 7
A. o faeelr faaer B. #iegH facel Aaer
C. F1s faeely Aaer 78t D. §3 facelr faasr

Q93. In India which of the following is regulated by Forward Market Commission?

A. Currency futures trading B. Equity futures trading
C. Commodities futures trading D. Forex trading

Q93. 9Rd & T & FleT FRas ArHe FE garT FERa A srar €2

A. ST gER e B. 3wy ¢fe

C. HAMSET wgus gfEar D. faeeft 7ar &

Q94. Which one of the following brings out the publication called 'Energy Statistics' from
time to time?

A. Central Statistical Organization B. Planning Commission

C. Power Finance Corporation Ltd. D. Central Power Research Institute
Q94. AFT H U FleT WA WA W 'FoAT T ATHF TP YHITAT FIAT/FIAT §2

A. FET HITCTHIT HseT B. ISt 3TN

C. UTaR HEd HraRee fafdes D. el faegd HeJaerel TEUTeT

Q95. Debit balance in Cash Book means

A. Overdraft B. Overdue balance
C. Favourable balance D. Credit balance
Q5. YFs T A AR AT FT 7T & -

A. 3aRgHe B. 3ifacy A

C. 3% A D. ST AN

Q96. Overhead Budget Variance is a sub-variance of which of the following?
A. Overhead volume variance B. Overhead efficiency variance

C. Overhead cost variance D. Overhead price variance
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Q96. 3T T9I€ IR, AH ¥ FhawT 37-3iav §2

A. 39T YHTAT 37T B. 3UNTT FHIITHAT 37T

C. 3T AETT 37T D. 3T AT 37T

Q97. Who conducts the Management audit of a company?

A. Qualified cost accountant B. Qualified chartered accountant

C. An accountant D. Any knowledgeable person

Q97. Fualt # YatreT rET THET FieT FIaT 82

A. TEATITCT AR ST B. 3(¢dmvTcd AdT JI@ThT
C. JWHR D. STAPRY IWet aTell s oY safFa

Q98. Which of the following is not a relevant cost?
A. Replacement cost B. Sunk cost

C. Marginal cost D. Depreciation

Q98. 543 ¥ FieT AT Ao W AT 76T &2

A. SiaEATTeT draTed B. gl frarel
C. HHATedh T D. HeTgrH

Q99. Which of the following is the income effect of inferior goods?
A. More B. Negative

C. Perfectly elastic D. Inelastic

Q99. 57 & FieT AT RATwew fsgse AT F1 31T yorra 82
A. 318+ B. dAshRIcH®

C. 3y 7 T YAy D. 39cTTET
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Q100. Exemption under section 54 is available to -

A. All assessees B. Individuals only
C. Individual + HUF D. Any Partner
Q100. 8T 54 F T B 3o¢ A § -

A. gaft TR B. chdel ehied

C. IfFd + T3, T, D. FI$ & TSR
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